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IDENTIFICATION

PRODUCT CODE: AC-8190B-M(

PRODUCT NAME : CVKABBO LSI-11 EIS INST TEST
DATE CREATED: JuLy, 1981

MAINTAINER: DIAGNOSTIC GROUP

COPYRIGHT (C) 1975,1981
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY

ON A SINGLE COMPUTER SYSTEM AND MAY BE COPIED ONLY WITH
THE INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS

SOF TWARE, OR ANY OTHER COPIES THEREOF, MAY NOT BE PROVIDED
OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON EXCEPT

FOR USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO THESE
LICENSE TERMS. TITLE TO AND OWNERSHIP OF THE SOF TWARE
SHALL AT ALL TIMES REMAIN IN DEC.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A COMMIT-
MENT BY DIGITAL EQUIPMENT CORPORTATION.

DEC ASSUMES NO RESPONSIBILITY FOR THE USE OR REL
gECITS SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLI

IABILITY
ED BY

56Q 0001



DVKABA MACY11 30(1046) 14=SEP-81
C(VKABB.P11 14~SEP-81 16:31

50
51

OO ALY
N—=O0~NOINS

16:32 PAGE 2

2.1
2.2
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4.1
4.2
4.3
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6.1
6.2

8.1
8.2
8.3
8.4
8.5

CoNTENTS
ABSTRACT
REQUIREMENTS
EQUIPMENT
STORAGE
PRELIMINARY PROGRAMS
LOADING PROCEDURE
STARTING PROCEDURE
CONTROL. SWITCH SETTINGS
STARTING ADDRESS
PROGRAM AND/OR OPERATOR ACTION
OPERATING PROCEDURE
SWITCH SETTINGS
SUBROUTINE ABSTRA(CTS
ERRORS
ERROR PRINTOUT
ERROR RECOVERY
RESTRICTIONS
MISCELLANEOUS
EXECUTION TIME
STACK POINTER
PASS COUNTER
TEST NUMBER
POWER FAIL
PROGRAM DESCRIPiiON

SEQ 0002
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2.3

6.1

ABSTRACT

THIS PROGRAM TESTS THE LSI-11 EXTENDED INSTRUCTION SET
<ASH, ASHC, MUL, AND DIV> OPTION USING REGISTERS 0=5 AT-
LEAST ONCE WITH EACH INSTRUCTION. IT IS ALSO CHECKED THAT
EXTENDED INSTRUCTIONS CAN BE INTERRUPTED (BY THE CONSOLE
TELETYPE) [HOWEVER THIS TEST WILL NOT BE EXECUTED WHEN BIT
5 OF SENVM BYTE IS HIGH ]. THE PROGRAM SHOULD BE RUN FOR
AT LEAST 2 PASSES WITH ALL SWITCHES LOW. THE PROGRAM IS
DESIGNED TO RUN UNDER APT. AND ACT. SYSTEMS. WHEN RUNNING
UNDER APT WITH BIT 5 OF SENVM LOW IT WILL BE REQUIRED TO
HAVE A SLU WITH TTY REGISTERS HAVING ADDRESSES OF 176560-66
:7?7%:TERUPT VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANS-

REQUIREMENTS

EQUIPMENT

LSI=11 STANDARD COMPUTER WITH EIS OPTION
AND 4K OF MEMORY

STORAGE
PROGRAM STORAGE =~ THE ROUTINES USE MEMORY 0 - 17500

PRELIMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURE FOR ABS TAPES.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS
SEE 5.1 (ALL LOW FOR WORST CASE TESTING)
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4.2

4.3

4.3.1

4.3.2

2.1

STARTING ADDRESS

AFTER LOADING THE PROGRAM IT SHOULD ALWAYS BE STARTED AT 200.
IF IT IS DESIRED TO SAVE THE PASS COUNTER THEN THE PROGRAM
SHOULD BE RESTARTED AT LOCATION RESTRT [I.E. 222] OTHERWISE THE
PROGRAM CAN BE RESTARTED AT 200

PROGRAM AND/OR OPERATOR ACTION

STAND ALONE
1) PLACE LTC SWITCH IN OFF POSITION (IF APPLICABLE).

SET SWITCHES (SEE SEC 5.1) ALL LOW FOR WORST CASE.

TYPE 200G IF USING ABS LOADER.

THE PROGRAM WILL LOOP AND ‘‘END PASS'' WILL BE TYPED AFTER

COMPLETION OF FIRST PASS AND EVERY 4TH PASS. HOWEVER TYPE
OUT WILL BE SUPPRESSED IF BIT 5 OF LOCATION SENVM IS HIGH
6) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN.

UNDER APT

LOAD THE PROGRAM AND START AFTER SETTING THE DESIRED SWITCHES
(SEE SEC. 5.1). HOWEVER IF THE DIAGNOSTIC IS RUN UNDER APT.
WITH BIT 5 OF SENVM LOW THEN IT WILL BE REQUIRED THAT A SLU
WITH TTY REGISTERS HAVING ADDRESSES OF 176560-66, AND INTERUPT
VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANSMITTER BE PRESENT,
IT WILL ALSO BE REQUIRED TO CHANGE THE PASS TIME FROM 5 SEC.
TO 15 SECONDS AND THE TEST TIME FROM 3 TO 10 SECONDS

(VLR W AN
N Nt N N

OPERATING PROCEDURE

SWITCH SETTINGS

A 16 BIT LOCATION CALLED $SWREG (I.E. LOCATION 422) HAS BEEN
USED TO GIVE THE FOLLOWING OPTIONS BY INSERTING A 1 IN THEIR
RESPECTIVE POSITIONS

BIT # OCTAL VALUE FUNCTION
15 00088 . . . .oc00 0554 HALT ON ERROR
13 020000, ..cc0000000 INHIBIT PRINTOUT

AN 8 BIT BYTE $ENVM [I.E. LOCATION 421] HAS BEEN USED TO DEF INE
THE OPERATING MODE. ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
?6%A?Igg QEBE $ENVM HIGH, IN OTHER WORDS BY PLCING A 20000 IN

LOAD PROGRAM INTO MEMORY USING ABS LOADER OR XXDP+ (.R VKAB?7).

SEQ



DVKABA MACYT1 30(1046) 14~SEP-81
(VKABB.P11 14-SEP-81 16:31

)
—b
N

PON) = b = e nd

CO0O NN AN = O 000 NV NN = O 000 N0 W

NINUNINLPININI PPN NI AL N NI NN NI PO NN NININD NI NN
£ NN NN INIWN NN W NN N N RO RO RO N -

F o8
N —

248

S LST NSNS ST N1, N1, 8]
(o JVTIV LV TV IV IV IV I IV IV, P
N == OOV NV WA =2 DO

NNy
o

16:32 PAGE &

5.2.2

6.1

6.2

SUBROUTINE ABSTRACTS

HALT ROUTINE

THIS ROUTINE CALLED VIA JSR INSTRUCTION IS USED EACH TIME
AN ERROR IS SEEN AND AN ERROR MESSAGE OF THE FORMAT GIVEN
IN SEC. 6.1 IS TYPED OUT UNLESS SUPRESSED BY THE SWITCHES
DEFINED IN SEC. 5.1

TRAP CATCHER

A ''.+2"" = "HALT'' SEQUENCE 1S REPEATED FROM 0-776 TO CAT(H
ANY UNEXPECTED TRAPS. THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VECTOR +2.

ERRORS

ERROR PRINTOUT

THE FORMAT IS AS FOLLOWS:
ADR ERRNM

WHERE :

ADR ADDRESS OF ERROR

ERRNM ERROR NUMBER

IN MOST CASES THE COMMENT BESIDE THE CALL FOR HALT SUBROUTINE
TELLS WHAT WAS BEING CHECKED AND WHAT WAS EXPECTED. ALL
PRINTOUTS WILL BE SUPPRESSED WHEN BIT 5 OF LOCATION

$ENVM IS HIGH. WHILE RUNNING UNDER APT THE DIAGNOSTIC

WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

ERROR RECOVERY
RESTART AT 200 OR 222 (SEE SEC 4.2)

RESTRICTIONS
NONE

MISCELLANEOUS

SEQ 0005



DVKABA MACY11 30(1046) 14=SEP-81 16:32 PAGE 4-1
(VKABB.P11 14=SEP-81 16:31

269

270

5;} 8.1 EXECUTION TIME

273 DUE TO THE RANDOM CHARACTERISTIC OF THE INTERRUPT TESTS, THE
274 EXECUTION TIME CAN BE 5 SECONPS OR MORE PER PASS. HOWEVER,
275 NORMALLY FIRST "‘END PASS'' WILL BE TYPED WITHIN 5 SECONDS AND
5;? WITHIN 50 SECONDS FOR EVERY CONSECUTIVE 10 PASSES

278

5;8 8.2 STACK POINTER

281 STACK IS INITIALLY SET TO 600

282

283

284

%gg 8.3 PASS COUNT

287- A 16 BIT LOCATION ''$PASS'' (I.E. LOCATION 406) IS USED TO KEEP
ggg PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200
290

291

53% 8.4 TEST NUMBER

294 A 16 BIT LOCATION '‘STESTN'' (I.E. LOCATION 404) IS USED TO KEEP TRA(K
295 OF THE TEST NUMBER, UPPER BYTE OF THIS LOCATION GIVES THE ITERATION
539 NUMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

298

%gg 8.5 POWER FAIL

301 THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. TO USE,

302 START THE TEST AS USUAL AND POWER DOWN THEN UP AT ANY TIME,
303 THE PROGRAM SHOULD RESTART FROM TEST 0 AFTER TYPING 'POWER™’
304 WITH NO ERRORS. HOWEVER IF THE PROGRAM IS STORED IN A MOS

305 MEMORY THAT CAN NOT HOLD DATA WITH POWER DOWN THEN THE PROGRAM
%89 WILL NOT RECOVER FROM A POWER FAIL

308

309

310 . PROGRAM DESCRIPTION

3

312 THIS PROGRAM TESTS ALL THE EIS INSTRUCTIONS OF THE LSI-11
313 FOR ASH AND ASHC INSTRUCTIONS EVERY EVEN PASS IS EXECUTED
314 WITH DESTINATION MODE O FOR ALL REGISTERS AND EVERY ODD PASS
315 WITH DESTINATION MODE OF 67. THE DIAGNOSTIC DOES NOT MAKE A
g}? - PASS WITH T BIT SET.
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LIST MD_MC,CND

IST ME

ITLE DVKABA

:*COPYRIGHT (C) AUGUST 1975
;*DIGITAL EQUIPMENT CORP.
*MAYNARD MASS. 01754

tPROGRAH BY PERVEZ ZAKI

tTHIS PROGRAM WAS ASSEMBLED USING THE PDP-!l MAINDEC SYSMA(

*PACKAGE (MAINDEC=11=DZQAC-C5),

‘r~-1
$SWR=160000

;:HALT ON ERROR, LOOP ON TEST,

INHIBIT ERROR TYPOU)
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329

T30 AR AR R AR R AR AR AR R R R RN R RN AR AR Rt
331

%%% 000000 .=0 :TRAP CATCHER 0 = 776

T34 _-;-tttttnttntttntnttttttttttttittttwttntttttqttatt-t--tt--otoa-.o
341

??? LSBTTL ACT11 HOOKS

(2) .-;ttttntttttttttttttttttttttttttttttt.ttttttt-qnnntnn-ttta--.tcn
(1) :HOOKS REQUIRED BY ACTI

(1) 001000 $SVP(C=. s SAVE PC

(1) 000046 =46 ‘

(1) 000046 017032 $ENDAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
(1) 000052 .=52

(1) 000052 000000 .WORD O ::2)SET LOC.52 TO ZERO

él% 001000 .=$SVP( ;2 RESTORE PC

344 000000 DUMMY= 0

345 000001 ERRNM= 1

346 000051 F= 51

347 000176 = 176

348 000007 PC= %7

349 000006 SP= %6

350 010701 SCOPE= 10701

351 010701 SCOPE1= 10701

352 010703 SCOPE3= 10703

353 001000 Sw09= 1000

354 002000 Swi0= 2000

355 004000 Sw11= 4000

356 010000 swiz= 10000

357 000004 TYPE= 10T

358

359

360 000020 .=20

361 000020 017300 $TYPE
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363 000400 .=400
3?1. .SBTTL APT MAILBOX~-ETABLE
52; _-:tttltltttttttttttttttttttttltttttttttﬁttittttttt\tttttttt.:t-n LR
(1) .EVEN
(1) 000400 $MAIL : : sAPT MAILBOX
(1) 000400 000000 $MSGTY: .WORD  AMSGTY ;:MESSAGE TYPE (ODE
(1) 000402 000000 $FATAL: .WORD  AFATAL ;;FATAL ERROR NUMBER
(1) 000404 000000 $TESTN: .WORD  ATESTN ;;TEST NUMBER
(1) 000406 000000 $PASS: .WORD  APASS  ;;PASS COUNT
(1) 000410 000000 $DEVCT: .WORD  ADEVCT ;:DEVICE COUNT
(1) 000412 000000 SUNIT: .WORD AUNIT  ;;1/0 UNIT NUMBER
(1) 000414 000000 $MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
(1) 000416 000000 SMSGLG: .WORD  AMSGLG ;;MESSAGE LENGTH
(1) 000420 $ETASLE: ; sAPT ENVIRONMENT TABLE
(1) 000420 000 $ENV:  .BYTE  AENV ; ;ENVIRONMENT BYTE
(1) 000421 000 SENVM: BYTE  AENVM  ;;ENVIRONMENT MODE BITS
(1) 000422 000000 $SWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
(1) 000424 000000 SUSWR: .WORD AUSWR  ;;USER SWITCHES
(1) 000426 000000 $CPUOP: .WORD  ACPUOP ;;(PU TYPE,OPTIONS
(1) g BITS 15-11=CPU TYPE
(1) sh 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
(1) i 11/70=06,PDQ=07,0=10
(1) ¥ BIT 10=REAL TIME CLOCK
(1) BIT 9=FLOATING POINT PROCESSOR
(1) M BIT 8=MEMORY MANAGEMENT
(1) 000430 $ETEND:
a3
%?? .SBTTL APT PARAMETER BLOCK
(2) AR S SR A AR S AR LR L Rt bt doloddaaiotalodoluiaindeiodedololololodededddoliodfododol
(1) ;SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
(2) IRAARAR AR AR AR AR AR AR AR AR RN AR AR AR A AR AN CAR RO
(1) 000430 .$X=.  ;;SAVE CURRENT LOCATION
(M 000024 =24 ;;SET POWER FAIL TO POINT TO START OF PROGRAM
(1) 000024 000200 200 ::FOR APT START UP
(1 000044 =44 ;sPOINT TO APT INDIRECT ADDRESS PNTR.
(1) 000044 000430 $APTHDR ;;POINT TO APT HEADER BLOCK
(1 000430 .=.8X  ;;RESET LOCATION COUNTER
(2) IIRARRRARRRRRRAARA AR AAAAAARARRARRAARA AR A AR AARA AR RRRRRRRRRRRRROR
(1) ;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDPi11 DIAGNOSTIC
g}) ; INTERFACE SPEC.
)
(1) 000430 $APTHD :
(1) 000430 000000 $HIBTS: .WORD O ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(1) 000432 000400 SMBADR: .WORD  SMAIL  ;;ADDRESS OF APT MAILBOX (BITS 0-15)
(1) 000434 000003 $TSTM: .WORD 3 ;;RUN TIM OF LONGEST TEST
(1) 000436 000005 $PASTM: .WORD 5 :;RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(1) 000440 000000 SUNITM: .WORD :;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
;g; 000442 000014 .WORD  SETEND-SMAIL/2 ;;LENGTH MAILBOX-ETABLE (WORDS)
368 000430 .=$APTHD
369 000430 COUNT :
370 000432 .=COUNT+2
371 000432 PSWORD :
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37 000434 .=PSWORD+?2
373 000434 TEMP1:

374 000436 .=TEMP1+2
375 000436 TEMP2:

376 000440 =TEMP2+2
377 000440 TEMP3: _

378 000442 .=TEMP3+2
379 000442 TEMPS :

380 000444 .=TEMP4 +2
381 000444 000000 TEMPS: .WORD

382 000446 000000 TEMP6: .WORD

383 000450 000 TYPCNT: .BYTE

384 (00451 000 $TPCNT: .BYTE

385 000452 000007 SO: 7

386 000454 177771 S1: -7

387 000456 000454 Se: S1

388 000460 177772 53 -6

389 000462 177777 S&: -1

390 000464 040000 S5: 40000

391 000466 000464 S6: SS

292 000470 040000 $7: 40000

393 000472 177776 S8: -2

394 000474 000002 S9: 2

395 000476 000474 $10: S9

396 000500 000002 S11: 2

397 000502 000064 TTYOUT: 64

398 000504 177566 $TPB: 177566
399 000506 177564 $TPS: 177564

400 000510 005015 020040 000040 S$CRLF: .ASCIZ <15><12>/ /
401 888252 888?5% 047520 042527 POWER: .ASCIZ <12><15>/POWER/
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017064
000410

000400
000352

000404
000430
000001
000600

000001

000510
176564
176566
000074
000001
000436
000001
000442

000434
000001

000436

177504

000442
016142

000024

000420

000434
000440

000406

000432

2%:

RESTRT:
.=600
BEGIN:

2%:

START:

2%:
4%:

16:32 PAGE 4-6
STARTING OF

MOV
MOV
CLR
CMP
BNE
JMP

MoV
CLR
MOV
MOV
MTPS
.WORD
BITB
BEQ
MOV
MOV
MOV
MOV
MOV
CLR
MoV
CLR

SCOPE1
MOV
BIT
BNE
MOV

ASH

ASH
MFPS
.WORD
CMPB
BEQ
JSR

THE PROGRAM

#SPWRDN ,a#24
#$DEVCT RO
-(R0O)

#SMAIL ,RO

2%

BEGIN

#STESTN,RS
a#COUNT
#1,(R5)
#BEGIN,SP

#0
106400!..C
#1,948ENV
2%

#$TPS+2 RO
#176564 .- (R0)
#176566 .~ (RO)
#74 .- (RO)
#1, 4 TEMP1
ANTEMP2
#1,94TEMP3
AN TEMPL

sPREPARE TC S

ERVICE POWER DOWN ROUTINE
sPREPARE TO INITIAL

I
TIALIZE THE STACK

;MAKE RS POINT TO THE LOCATION STESTN
;CLEAR THE COUNTER

JINITIALIZE TEST NUMBER

;%% STACK AT BEGIN =«

sPLACE #0 IN PSW

;ARE WE UNDER APT ?
:1F NOT THEN GO TO 2%
;OTHERWISE SET FOR OTHER SLU

; TEMP1
;TEMP?2
:TEMP3
:TEMP4

O=O -2

;ttttttt**t**tt**ittit*t*ttttttt

- ASH INSTRUCTION TESTS

:tt*ti*tt't*tttﬁ*ttit*tl*ttttttt

skt kK

* TESTS 1-36

:i**ﬁtttttt*l

#TEMP1,2%0
#1,a48PASS

2%
A#TEMP2 R
R1.RO

48
TEMPZ2,20

a#PSWORD
106700!..C

D RO WITH THE CONTENTS OF TEMP1
S IT AN EVEN PASS ?

F NOT THEN GO TO 2%

THERWISE EXECUTE THE INSTRUCTION
N MODE 0 USING R1

4 ¥
i
1l
;0

|

;SHIFT RO BY THE NUMBER SPECIFIED BY TEMP2
;SAVE PS

HTEMPL .@#PSWORD; IS THE PS = TEMP4 ?

.+10
PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0

SEQ 0011
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; (2) 000752 000001 1
. 784 000754 005237 000430 iNC a#COUNT : INCREMENT THE COUNTER
§ 785 000760 023700 000440 CMP S#TEMP3,%0 -1S THE RESULT IN RO EQUAL TO TEMP3?
. 786 000764 001403 BEQ .+10
| 787 000766 6%: . .
: (2) 000766 004767 016122 JSR PC,SHLT :SEEN AN ERROR, GC TO TH HALT ROUTINE
(2) :EITHER INCORRECT RO OR INCORRECT SEQUENCE
(2) 000772 000002 2
;gg 000774 021537 000430 CMP (R5) ,a#COUNT ;£3U5¥ER;EST NUMBER EQUAL TO THE
790 1000 001372 BNE 6% :IF NOT GO TO THE HLT ABOVE
791 001002 005215 INC (R5)
792 001004 010701 SCOPE1
793 001006 021527 000037 CMP (RS) ,#37 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
794 :BY 14. AND RIGHT BY 14.?
795 001012 002011 BGE 8%
796 001014 005237 000436 INC a#TEMP2
797 001020 6367 1/7414 ASL TEMP3 :SHIFT TEMP3 LEFT.
798 001024 021527 000020 CMP (RS) ,#20 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?
799 001030 001004 BNE REG1
800 001032 000167 000764 JMP NEGAT :IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
801 001036 004767 001006 8%: JSR PC,TST37 :1F SO GO AND CONTINUE THE REST OF THE PROGRAM
802 001042 010703 REG1: SCOPE3
803 001044 013701 000434 MOV ANTEMPT, X1 :LOAD R1 WITH THE CONTENTS OF TEMP1
4 001050 032737 000001 000406 BIT #1,3a48PASS :1S IT AN EVEN PASS ?
805 001056 001004 BNE 2% :IF NOT THEN GO TO 2%
806 001060 013702 000436 MOV ANTEMP2 ,R2 :OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
807 001064 072102 ASH R2.R1 :USING R1
808 001066 000402 BR 43
809 001070 072167 177342 2%: ASH TEMP2 , %1 :SHIFT R1 BY THE NUMBER SPECIFIED BY TEMP2
813 001074 4$: MFPS a#PSWORD :SAVE PS .
(1) 001074 106737 .WORD 106700!..C
517 001100 123737 000442 000432 CMPB AN TEMPS ,9#PSWORD; IS THE PS = TEMP4 ?
818 001106 001403 BEQ .+10
819 001110 004767 016000 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :THE PS IS NOT EQUAL TO 0
(2) 001114 000003 3
820 001116 005237 000430 INC a#COUNT : INCREMENT THE COUNTER
821 001122 023701 000440 CMP AN TEMP3, %1 :1S THE RESULT IN R1 EQUAL TO TEMP3?
82§ 0011%6 001403 BEQ .+10
823 001130 6%:
(2) 001130 004767 015760 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :EITHER INCORRECT R1 OR INCORRECT SEQUENCE
(3) 001134 000004 4
824 001136 021537 000430 CMP (RS5) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
825 001142 001372 BNE 6% :IF NOT GO TO THE HLT ABOVE
ggs 001144 005215 INC (RS)
001146 010703 SCOPE3
828 001150 021527 000037 CMP (RS) ,#37 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
829 :BY 14. AND RIGHT BY 14.?
830 001154 002011 BGE 8%
831 001156 005237 000436 INC AN TEMP2
83§ 001162 006367 177252 ASL TEMP3 :SHIFT TEMP3 LEFT
833 001166 021527 000020 CMP (RS) ,#20 -HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?
834 001172 001004 BNE REG?2
835 001174 000167 000622 JMP NEGAT :IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
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836 001200 004767
837 001204 010701
838 001%06 01370
839 001212 03273
840 001220 1004
841 0013 2 013703
sag 001226 072203
843 001230 000402
844 0015 2 072267
848 001236
(1) 001236 106737
asg 001242 123737
853 001250 001403
egg 001252 004767
(2) 001256 000005
855 001260 005237
856 001264 023702
857 001270 001403
858 001272
25; 001272 004767
(2) 001276 000006
859 001300 021537
860 001304 001372
861 001306 005215
862 001310 010701
gg‘ 001312 021527
865 001316 002011
866 001320 005237
7 001324 006367
868 0013;0 021527
869 001334 001004
870 001336 000167
871 001342 004767
872 001346 010701
87 001350 013703
874 001354 032737
875 001362 001004
876 001364 013704
877 001370 072304
878 801372 000402
339 01374 072367
3 001400
(1) 001400 106737
887 001404 123737
888 001412 001403
?3? 001414 004767
(2) 001420 000007
90 001422 005237
91 8814 6 023703
89 1232 001403
893 001434
(2) 001434 004767

14-5EP-81

16:31
000644

000434
000001

000436
177200

000442
015636

000430
000440

015616

000430

000037

000436
177110
000020

000460
000502

0004 34
000001
000436
177036

000442
015474

000430
000440

015454

000406

000432

000406

000432

16:32 PAGE 4-8

ASH IN>STRUCTION TESTS

8%: JSR

REGZ:
MOV
BIT
BNE
MOV
ASH
BR

2%: ASH

4%: MFPS
.WORD
CMPB

BEQ
JSR

5

INC
CMP
BEQ

JSR

6

CMP
BNE
INC

6%:

SCOPE1

CMP

BGE
INC
ASL
CMP
BNE
JMP
8%: JSR
REG3:
MOV
BIT
BNE
MOV
ASH
BR
2%: ASH

4%: MFPS
.WORD
CMPB

BEQ
JSR

7

INC
CMP
BEQ

JSR

6%:

SCOPE1

SCOPE1

PC,TST37

INTEMP1,%2
#}.G#SPASS

2

Q¥ TEMP2 ,R3
R3.R2

4%
TEMP2,%2
a#PSWORD
106700!..C

SEQ 0013
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

:LOAD R2 WITH THE CONTENTS OF TEMP1

;1S IT AN EVEN PASS ?

:IF NOT THEN GO TO 2%

:OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
:USING R2

;SHIFT R2 BY THE NUMBER SPECIFIED BY TEMP?
;SAVE PS

A#TEMPL . a#PSWORD; IS THE PS = TEMP4 ?

.+10
PC,SHLT

a#COUNT
ANTEMP3, %2

.+10

PC,SHLT

(R5) ,a#COUNT
6%

(R5)
(R5) ,437

NEGAT
PC,TST37

Q#TEMP1 %3
#1.3’$PASS

2
QN TEMP2 R
Rg.RS

4
TEMP2 ,%3
a#PSWORD
106700!..C

:SFEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IZ NOT EQUAL TO 0

;IS THE RESULT IN R2 EQUAL TO TEMP3?

g $N AN ERROR, GO TO TH HALT ROUTINE
I
I

HER INCORRECT R2 OR INCORRECT SEQUENCE

E
1
S THE TEST NUMBER EQUAL TO THE COUNTER?
F NOT GO TO THE HLT ABOVE

;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, AND RIGHT BY 14.?

;SHIFTED TEMP3 LEFT
;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?

:IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R3 WITH THE CONTENTS OF TEMP1

;1S IT AN EVEN PASS ?

;IF NOT THEN GO TO 2%

:OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
;USING R3

;SHIFT R3 BY THE NUMBER SPECIFIED BY TEMPZ
: SAVE PS

I#TEMPL  3#PSWORD; IS THE PS = TEMP4 ?

.+10
PC,$HLT

a#COUNT
ANTEMPS, %3
.+10

PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS 1S NOT EQUAL TO 0.

;1S THE KESULT IN R3 EQUAL TO TEMP3?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
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. (VKABB.P11 14-SEP-81 16:31 ASH INSTRUCTION TESTS SEQ 0014
(g) ;EITHER INCORRECT R3 OR INCORRECT SEQUENCE
(2) 001440 000010 10
894 001442 021537 000430 CMP (R5) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
895 001446 00137g BNE 6% ;IF NOT GO TO THE HLT ABOVE
896 001450 00521 INC (R5) :

897 001452 010701 SCOPE1

898 001454 021527 000037 CMP (R5) , 437 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
899 JLEFT BY 14, AND RIGHT BY 14.?

900 001460 002010 BGE 8%

901 001462 005237 000436 INC N TEMP2

902 001466 006367 176746 ASL TEMP3 ;SHIFT TEMP3 LEFT?

903 001472 021527 000020 CMP (R5) ,#20 ;HAS THE CONTENTS OF REGISTEKS BEEN SHIFTED LEFT BY 14.7
904 001476 001003 BNE REG4

905 001500 000550 BR NEGAT ;1F SO GO TO NEGAT AND INITIATE RIGHT SHIFT
906 001502 004767 000342 8$: JSR PC,TST37 ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
907 001506 010703 REG4:  SCOPE3

908 001510 013704 000434 MOV AN TEMP1 %4 ;LOAD R4 WITH THE CONTENTS OF TEMP1

909 001514 010501 MOV R5.R1 :SAVE RS

910 001516 032737 000001 000406 BIT #1,a48PASS 21S IT AN EVEN PASS ?

911 001524 001004 BNE 2% :IF NOT THEN GO TO 2%

612 001526 013705 000436 Mov Q¥ TEMP2 RS ;OTHERWISE EXECUTE ASH 'NSTRUCTION IN MODE 0
913 001532 072405 ASH R5.Ré4 ;USING R4

914 001534 000402 BR 48

915 001536 072467 176674 2%: ASH TEMP2 %4 ;SHIFT R4 BY THE NUMBER SPECIFIED BY TEMP?
919 001542 4%: MFPS a#PSWORD :SAVE PS

(1) 001542 106737 .WORD  106700!..C

923 001546 123737 000442 000432 CMPB QNTEMPS ,34PSWORD; IS PS = TEMP4 ?

924 001554 001403 BEQ .+10

925 001556 004767 015332 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

(2) ;THE PS IS NOT EQUAL TO 0

(2) 001562 000011 11

926 00156+ 005237 000430 INC a#COUNT

927 001570 023704 000440 CMP SNTEMP3, %4 ;1S THE RESULT IN R4 EQUAL TO TEMP3?

928 001574 001403 BEQ .+10

929 001576 6%:

(2) 001576 004767 015312 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT RCUTINE

(2) sEITHER INCORRECT R4 OR INCORRECT SEQUENCE
(2) 001602 000012 12 '

930 001604 010105 MOV R1,R5 ;RESTORE R5

931 001606 021537 000430 CMP (R5) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
932 001612 001371 BNE 6% ;IF NOT GO TO THE HLT ABOVE

933 001614 005215 INC (R5)

934 0015616 010701 SCOPE1

935 001620 021527 000037 cMP (R5) ,#37 ;HAS THE CONTENTS OF REGISTERS BEEN

936 ;SHIFTED LEFT BY 14. AND RIGHT BY 14.?

937 001624 002010 BGE 8$

938 001626 005237 000436 INC a# TEMP2

939 001632 006367 176602 ASL TEMP3 ;SHIFT TEMP3 LEFT

940 001636 021527 000020 CMP (R5) ,#20 :HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY 14.?
941 001642 001003 BNE REG5

942 001644 000466 BR NEGAT ;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
943 001646 004767 000176 8%: JSR PC,TST37 ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
944 001652 010701 REG5:  SCOPE1

945 001654 010501 MoV R5,R1 ;SAVE RS

946 001656 013705 000434 MoV INTEMP1,X5 ;LOAD RS WITH THE CONTENTS OF TEMP1

947 001662 032737 000001 000406 BIT #1,348PASS ;IS IT AN EVEN PASS ?
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| CVKABB.P11 14-SEP-81 16:31 ASH INSTRUCTION TESTS SEQ 0015

98 001670 001004 BNE 28 :IF NOT THEN GO TO 2%

949 001672 013700 000436 MOV MTEMP2 RO "OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
950 001676 072500 ASH RO,RS *USING RS

951 001700 000402 BR 4$

952 001702 072567 176530 28: ASH TEMP2,%5  ;SHIFT RS BY THE NUMBER SPECIFIED BY TEMP?
956 001706 4%: MFPS a#Psuono *SAVE PS

(1) 001706 106737 .WORD  106700!.

960 001712 123737 000442 000432 CMPB  QATEMP4, axpsuono IS PS = TEMP4 2

961 001720 001403 BEQ .+10

962 001722 004767 015166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(2) “THE PS 1S NOT EQUAL TO 0.

(2) 001726 000013 13

963 001730 005237 000430 INC #COUNT

964 001734 023705 000440 CMP INTEMP3, XS5 :1S THE RESULT IN RS EQUAL TO TEMP3?

965 001740 001403 BEQ .+10

966 001742 6% :

(2) 001742 004767 015146 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

(2) “EITHER INCORRECT RS OR INCORRECT SEQUENCE
(2) 001746 000014 14

967 001750 021137 000430 CMP (R1).3#COUNT  :1S THE TEST NUMBER EQUAL TO THE COUNTER?
968 001754 001372 BNE 6$ “IF NOT GO TO THE HLT ABOVE

969 001756 010105 MOV R1,RS *RESTORE RS

970 001760 005215 INC (RS)

971 001762 010701 SCOPE1

972 001764 021527 000037 CMP (RS) ,#37 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
973 “LEFT BY 14. AND RIGHT BY 14.?

974 001770 002010 BGE 8s “IF SO GO AND CONTINUE THE REST OF THE PROGRAM
975 001772 005237 000436 INC AMTEMP2

976 001776 006367 176436 ASL TEMP3 :SHIFT TEMP3 LEFT

977 002002 021527 000020 CMP (R5),#20 “HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?
978 002006 001405 BEQ NEGAT “IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
979 002010 000402 BR 108

980 002012 004767 000032 8%: JSR PC,TST37

981 002016 000167 176656 108:  JMP START :GO BACK TO START

982 002022 012737 040000 000434 NEGAT: MOV #40000,3#TEMP1  : TEMP1=40000

983 002030 012737 177762 000436 MOV 8177762, a0 TEMP2 : TEMP2= 177?62

984 002036 012737 000001 000440 MOV #1,34TEMP3 STEMP3=1

985 002044 000167 176630 JMP START

986 002050 021527 000037 1ST37: CMP (RS) ,#37 ;1S IT TEST 372

987 002054 001013 BNE 15740 “IF NOT THEN TRY TEST 40

988 002056 005037 000434 CLR IATEMPI 0

989 002062 012737 000020 000436 MOV l16..ilTEHP2 “SHIFTED BY 16

990 002070 005037 000440 CLR NTEMP3 1s=

991 002074 012737 000004 000442 MOV :4 N TEMPS “AND PS=4

992 002102 000207 RTS

993 002104 921527 000040 IST40: CMP (RS) #40 <15 IT TEST 40?

994 002110 001003 BNE TST41 “IF NOT THEN TRY TEST 41

995 002112 005037 000436 CLR ANTEMP? 0 SHIFTED BY 0=0 AND PS=4

996 002116 000207 RTS PC

997 002120 021527 000041 1ST41: CMP (RS) ,#41 :1S IT TEST 412

998 002124 001004 BNE 1sT4 *IF NOT THEN TRY TEST 42

999 002126 012737 177760 000436 MOV #=16. ,a#TEMP2 -0 SHIFTED BY =16.=0 AND PS=4
1000 002134 000207 RTS PC
1001 002136 021527 000042 1ST42: CMP (RS) 442 ;1S IT TEST 427
1002 002142 001013 BNE 157453 “IF NOT THEN TRY TEST 43
1003 002144 012737 100000 000434 MOV #100000,3#TEMPT :100000
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1004 002152 005237 000436 INC INTEMP2 :SHIFTED BY =15

1005 002156 005337 000440 DEC SNTEMP3 115=-1

1006 002162 012737 000010 000442 MGV 210,34 TEMP4 :AND PS=10

1007 002170 000207 RTS PC

1008 002172 021527 000043 TST43: CMP (RS) ,#43 IS IT TEST 43?

1009 002176 001012 BNE TST44 IF NOT THEN IF NOT THEN TRY TEST 44

1010 002200 012737 125252 000434 MOV #125252,a#TEMP1 125252

1011 002206 012737 177777 000436 MOV #-1, IR TEMP2 “SHIFTED BY =1

1012 002214 012737 152525 000440 MOV #155525,a#TEMP3 :15=152525 AND PS=10

1013 002222 000207 RTS PC

1014 002224 021527 000044 IST44: CMP (R5) , #44 SIS IT TEST 442

1015 002230 001012 BNE 15745 “IF NOT THEN TRY TEST 45

1016 002232 012737 000001 000436 MOV #1,3XTEMP2 ©125252 SHIFTED BY 1

1017 002240 012737 052524 000440 MOV #55524 Q#TEMP3 15252524

1018 002246 012737 000003 000442 MOV #3, M TEMPG *AND PS=

1019 002254 000207 RTS PC

1020 002256 021527 000045 TST45: CMP (R5) , #45 :1S IT TEST 45?

1021 002262 001012 BNE TST46 “IF NOT THEN TRY TEST 46

1022 002264 012737 177776 000436 MOV #=2 QN TEMP2 1125252 SHIFTED BY =2

1023 002272 012737 165252 000440 MOV #165252.a#TEMP3 :15=165252

1024 002300 012737 000011 000442 MOV #1138 TEMPL *AND PS=11

1025 002306 000207 RTS PC

1026 002310 021527 000046 IST46: CMP (RS5) , #46 :IS IT TEST 46?

1027 002314 001014 BNE 1ST47 “IF NOT THEN TRY TEST 47

1028 002316 012737 177777 000434 MOV #=1,4TEMP1 i=1

1029 002324 012737 000020 000436 MOV #16. ,@#TEMP2  :SHIFTED BY 15.

1030 002332 005037 000440 CLR AMTEMP3 115=0

1031 002336 012737 000007 000442 MOV 47 . IKTEMPS “AND PS=7

1032 002344 000207 RTS PC

1033 002346 021527 000047 TST47: CMP (RS) 447 :1S IT TEST 47?2

1034 002352 001011 BNE 15750 “IF NOT THEN TRY TEST 50

1035 002354 005337 000436 DEC INTEMP2 ‘=1 SHIFTED BY 15

1036 002360 012737 100000 000440 MOV #100000,a#TEMP3 - 15=100000

1037 002366 012737 000011 000442 MOV #11. N TEMP4 *AND PS=11

1038 0023764 000207 RTS PC

1039 002376 021527 000050 ISTSO: CMP (R5) ,#50 :1S IT TEST 50

1040 002402 001007 BNE ENTST *IF NOT THEN TRY TEST 51

1041 002404 012737 137777 000434 MOV #137777.a#TEMP1 137777 SHIFTED BY 15. 15=100000

1042 002412 012737 000013 000442 MOV #13, N TEMP4 *AND PS=13

1043 002420 000207 RTS PC

1044 002422 021527 000051 ENTS1: CMP (R5) ,#51 :1S IT ENTERING TEST 512

1045 002426 901403 BEQ .+10

1046 002430 004767 0164460 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) “TEST NUMBER GOOFED

1&2; 002434 000015 15

1048 002436 005726 ST (SP)+ :RESTORE STACK POINTER

1049 002440 012704 177771 MOV #-7.%

1050 002444 012702 000454 MOV #S1.%2

1051 002450 012703 000456 MOV #52.%3
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ASH INSTRUCTION TESTS

T2 122122222222 2332%2222222333323333323322220 20000 R R RRRRlRllilll bl

STEST:51

LSI-11

ASH

125252 SHIFTED BY #5 = 52500 PS = 3

;ttttl!tttitttltttittttttt'!tttit.‘ttiiiittttt'ttt'liiﬁﬁ'ittt.tﬁttttl

TSTS51:
MOV
ASH
MFPS
.WORD
CMPB
BEQ
JSR

16
CMP
BEQ

JSR

17

CMP
BNE
INC

1%:

SCOPE1

#125252.%1
#5,%1
a#PSWORD
106700!..C
#3,a#PSWORD
.+10
PC,$HLT

#52500,%1
.+10
PC,SHLT

(R5) ,#51
1$
(R5)

:LOAD R1 WITH 125252
JSHIFT R1 BY #5
;SAVE PS

:1S THE PS 3?

;SEEN AN ERROR, GO TO TH_KWAL: ROUTINE
;THE PS IS NOT EQUAL TO 3

;1S THE RESULT 525007
;SEEN AN ERROR, GO TO _TH HALT RCUTINE
;R1 IS NOT EQUAL TO 52500 OR INCORRECT SEQUENCE

;IS STESTN = #51
;IF NOT THEN GO TO HLT ABOVE

T i 2222222222 22222222333223323232232332323 2333332233222 280 00200t lll)

STEST:S2

LSI-1

ASH

125252 SHIFTED BY @S2 = 177525 PS = 10

:t.I!tt.ﬁtttt'*ttttititttiititltitlt!itttttﬁlQltitt't'tttitittttttt'ﬁ

TSTS2:
MOV
ASH
MFPS

.WORD

CMPB
BEQ
JSR

20
CMP
BEQ

JSR

21

CMP
BNE
INC

1%:

SCOPE1

#125252.%0
as2.%0
a#PSWORD
106700!..C
#10,3#PSWORD
.+10

PC,SHLT

#177525.,%0
410
PC,SHLT

(R5) ,#52
1%
(R5)

;LOAD RO WITH 125252
:SHIFT RO BY aS?
;SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

;1S THE RESULT 177525?

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

;1S STESTN = 452
:IF NOT THEN GO TO HLT ABOVE



' DVKABA MACY11 30(10646) 1a§§sp-s1 16:32 PAGE 4=13

. (VKABB.P11 14-SEP-81 16 ASH INSTRUCTION TESTS SEQ 0018

1054 L L L L L L L L L AR L L Sl bebediniedeieioioiaioioiidebeaiiaihldlelelldidh il
(N ;TEST:53  LSI-11  ASH 125252 SHIFTED BY a#S1 = 177525 PS = 10
(1) RN AR AR AR AR AR R AR AR AR,
(1)

(1) 002614 010701 TSTS53: SCOPE1 :

(1) 002616 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252

(1) 002622 072037 000454 ASH a#51,%0 ;SHIFT RO BY a#s1

(1) 002626 MFPS a#PSWORD . SAVE PS

(2) 2626 106737 .WORD  106700!..C

(1) 002632 122737 000010 000432 (MPB #10,3#PSWORD ;1S THE PS 10?

(1) 002640 001403 BEQ .+10

(3) 002642 004767 014246 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HAL: ROUTINE
N :THE PS IS NOT EQUAL TO 10

(3) 002646 000022 22

(1) 002650 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257

(1) 002654 001403 BEQ .+10

(1) 002656 1%:

(3) 002656 004767 014232 JSR PC,SHLT ;SEEN AN ERROR, GO TO _TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 002662 000023 23

(1) 002664 021527 000055 CMP (R5) ,#53 ;1S STESIN = #53

(1) 002670 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE

(}; 002672 005215 INC (R5)

(

()

(

1055 INRRRANRRRRANARRRRRR R ST A RAR A AR AR AR AR ERTRRORd TR R ARt R Rt ns
(1) JTEST:54 LSI-11  ASH 125252 SHIFTED BY (2) = 177525 PS = 10
(1) AR AR AR AR AR SRR R R AR AR AR AR R RR AT AR AR AR R TR Ra ot aae
(1)

(1) 002674 010701 TST54: SCOPE1

(1) 002676 012700 125252 MOV #125252,%0 :LOAD RO WITH 125252

(1) 002702 072012 ASH (2),%0 sSHIFT RO BY (2)

(1) 002704 MFPS a#PSWORD :SAVE PS

(2) 002704 106737 .WORD  106700!..C v

(1) 002710 122737 000010 000432 (MPB #10,3#PSWORD ;1S THE PS 10?

(1) 002716 001403 BEQ .+10

(3) 002720 004767 014170 <SR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10

(3) 002726 000024 24

(1) 002726 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 002732 001403 BEQ .+10

(1) 002734 18:

(3) 002734 004767 014154 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 002740 025 25

(1) 002742 021527 000054 CMP (RS) ,#54 ;1S STESTN = #54

(1) 002746 001372 BNE 1% ;1F NOT THEN GO TO HLT ABOVE

E}; 002750 005215 INC (R5)

(1)

(N
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CVEABE. P 14=SEP=81 16:31 ASH INSTRUCTION TESTS

1056 R L L L L R AL L L R LR LR R LR hhbbehioiieinieiuiniaibeiaiiidhlddllleielieiillieil i
(1) ;TEST:55 LSI-11  ASH 125252 SHIFTED BY (2)+« = 177525 PS = 10
f1) .'lt'lt.-...'.ttlltiIit'.'.'!t.'tt.!l.l.ttt.tt'i'i..t.tl..t".Q.!.'.t.
(1)
(1) 002752 010701 TST55: SCOPE! :
(1) 002754 01%700 125252 MOV #125252.%0 :LOAD RO WITH 125252
(1) 002760 072022 ASH (2)+,%0 ;SHIFT RO BY (2)+
(1) 00276 MFPS a#PSWORD :SAVE PS
(2) 002762 106737 .WORD  106700!..C
(1) 002766 122737 000010 000432 (MPB #10,a#PSWORD ;1S THE PS 10?
(1) 002774 001403 BEQ .+10
(3) 002776 004767 014112 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) :THE PS IS NOT EQUAL TO 10
(3) Q03002 000026 26

(1) 003004 022700 177525 (MP #177525,%0 ;1S THE RESULT 177525?
(1) 003010 001403 BEQ .+10

(1) 003012 1%:

(3) 003012 004767 014076 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003016 000027 27

(1) 003020 021527 000055 CMP (R5) ,#55 ;1S STESTN = #55
(1) 003024 001372 BNE 1% ;IF NOT THEN GO TO HLT ABOVE

:}; 003026 005215 INC (RS5)

i

1057 SRR AR AR AR R R AR AR R TR AR RA R AR R R AR AR AR AR R RRR TR AR SRR AR nes
(1) ;TEST:56 LSI-11  ASH 125252 SHIFTED BY -(2) = 177525 PS = 10
(1) ;nntttttttt-ttttttatttntttttnttttttqttttt.ttttttt-tttttt-tn.--no.t-aa
(1)
(1) 003030 010701 , TSTS6: SCOPE1
(1) 003032 012700 125252 MOV #125252.,%0 :LOAD RO WITH 125252
(1) 003036 072042 ASH -(2),%0 ;SHIFT RO BY =(2)
(1) 003040 MFPS a#PSWORD ;SAVE PS
(2) 003040 106737 .WORD  106700!..C
(1) 003044 122737 000010 000432 CMPB #10,3#PSWORD ;1S THE PS 10?
(1) 003052 001403 BEQ +10
(3) 003054 004767 014034 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10
(3) 003060 000030 30

(1) 003062 022700 177525 CMP #177525,%0 ;1S THE RESULT 177525?
(1) 003066 001403 BEQ .+10
(1) 003070 1%:
(3) 003070 004767 014020 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH _HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003074 000031 31
(1) 003076 021527 000056 cMP (R5) ,#56 ;1S STESTN = #56
(1) 003102 001372 BNE 18 :1F NOT THEN GO TO HLT ABOVE
:;; 003104 005215 INC (R5)
(1)
(1)
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1058 AR AR RN AR AR TR AR AR R AR AT AT A ERANRAAN SR E R E A RRARARACGEOERRTRRROEROIRREROS

:TEST:S57  LSI=11  ASH 125252 SHIFTED BY 2(3) = 177252 PS = 1

)

) .'ltt.itlii.tt..tt't“ttt".'ttiti.tiililitl't."......"'.....Q..I.tt
)

) 003108 010701 1STS7: SCOPET :

) 88%11 0157 125252 MOV #125252.%0 :LOAD RO WITH 1;5252

) 114 072063 000002 ASH 2(3),%0 “SHIFT RO BY 2(3)

) 003120 MFPS a#PSWORD ;SAVE PS

) 003120 106737 .WORD 106700'..C

) 003126 122737 000011 000432 (MPB  #11,3#PSWORD ;IS THE PS 117

) 003132 001403 BEQ +10

) 003134 004767 013754 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL: ROUTINE
) :THE PS IS NOT EQUAL TO 1M

) 003140 000032 32

) 003142 022700 177252 CMP #177252.%0 :1S THE RESULT 1772522

) 003146 001403 BEQ .+10

) 003150 1%:

) 003150 004767 013740 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
) RO IS NOT EQUAL TO 177252 OR INCORRECT SEQUENCE
) 003154 000033 33

) 003156 021527 000057 CMP (RS) ,#57 15 STESTN = #57

) 003162 001372 BNE 18 :1F NOT THEN GO TO HLT ABOVE

; 003164 005215 INC (RS)

)

)

RS2 122222222222222232:2%22322233 3328233323302 2222220 Rad Rttt l )

:TEST:60 LSI-11  ASH 125252 SHIFTED BY a(3) = 177525 PS = 10

-
o~ — ‘\AAA“A’\AAAAA"\AJ\‘\Al\ﬁoaﬁﬁd\ﬂnahﬁf\’\’\l\ﬁ’\d\hﬁﬁﬁﬂﬂA—\ﬂ
e s s e (| A NN =B NN S AN bt b e s e W e e e o NN et A NN A ) e e e s s

)

) :t'ttttttttttttttttttltitttt'ttttttttttltttttttlttItlt'ttttttttttt'tt
)

) 003166 010701 1ST60: SCOPET

) 003170 012700 125252 MOV #125252,%0 :LOAD RO WITH 125252

) 003174 072073 000000 ASH a(3),%0 “SHIFT RO BY a(3)

) 003200 MFPS a#PSWORD :SAVE PS

Y 003200 106737 _WORD 106700'..C

) 003204 122737 000010 000432 CMPB #10,3#PSWORD :1S THE PS 10?

) 003212 001403 BEQ .+10

) 003214 004767 013674 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
) :THE PS IS NOT EQUAL TO 10

) 003220 000034 3

) 003222 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252

; 38; 53 001403 - BEQ +10

) 003230 004767 013660 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
) RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
) 003534 000035 35

) 003236 021527 000060 CMP (R5) , #60 ;1S STESTN = #60

) 003242 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE

; 003244 005215 INC (RS)

)

)
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(VKABB.P1? 14-SEP=-81 16: 31 ASH INSTRUCTION TESTS

1060 R e L L T R R LA L L R LR L LR L L E b bebehidoleiuiuininiinbuiiioieidialololioffelebelidlloiolllels
(1) sTEST:61 LSI=11 ASH 125252 SHIFTED BY a(3)+ = 177525 PS = 10
(1) "tttttt!!ﬁ...lttlitlittittilttitttt.t.tti‘iI'tititt"ttittqQtt.'ltll.
(1)

(1) 00;546 010701 TST61: SCOPE1 :

(1) 003250 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252

(1) 0032564 072033 ASH a3+, %0 :SHIFT RO BY a(3)+

(1) 003256 MFPS a#PSWORD ;SAVE PS

(2) 003%53 106737 .WORD 106700!..C

(1) 00326 122737 000010 000432 (MPB #10,a#PSWORD ;1S THE PS 10?

(1) 003270 001403 BEQ .+10

(3) 003272 004767 013616 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HAL+ ROUTINE
(3) ;:THE PS IS NOT EQUAL TO 10

(3) 003276 000036 36

(1) 003300 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257

(1) 003304 001403 BEQ .+10

(1) 003306 1%:

(3) 003306 004767 013602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003312 000037 37

(1) 003314 021527 000061 CMP (RS5) ,#61 ;1S STESTN = #61

(1) 003320 001372 BNE 1% ;IF NOT THEN GO TO HLT ABOVE

:;; 003322 005215 INC (RS5)

a)

1061 SRR AR RN AR AR AR AR E R AR ARR AR AR A RAR AR AR AR AR AR R TR RO C Rt A anan
(1) ;TEST:62 LSI-11 ASH 125252 SHIFTED BY a=(3) = 177525 PS = 10
(1) TR RARARAR AR AR AR RN R AR AR AR AR AR R R AR AR R AR R R AR AR AR a Rt
(1)

(1) 003326 010707 TST62: SCOPE1

(1) 003326 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252

(1) 003332 072053 ASH a-(3),%0 *SHIFT RO BY a=(3)

(1) 003334 MFPS a#PSWORD ;SAVE PS

(2) 003334 106737 .WORD 106700!..C

(1) 003340 122737 000010 000432 CMPB #10,3#PSWORD ;1S THE PS 10?

(1) 003346 001403 BEQ 410

(3) 003350 004767 013540 JSR PC,.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL TO 10

(3) 203354 000040 40

(1) 003356 022700 177525 (MP #177525,%0 ;1S THE RESULT 177525?

(1) 003362 001403 BEQ .+10

(1) 003364 18:

(3) 003364 004767 013524 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003370 000041 41

(1) 003372 021527 000062 (MP (RS) ,#62 ;IS STESTN = #62

(1) 003376 001372 BNE 1% ;:IF NOT THEN GO TO HLT ABOVE

f}; 003400 005215 INC (RS)

(1)

(1)

1065 SRR ARA AR R R AR R RRRRRRA AR RN,

1066 ASHC INSTRUCTION TESTS
1067 IEARRRRARRRARANNARRARRR R AR
1068
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000430 MOV
CLR
000436 Mov
CLR
CLR
000444 MOV
CLR

SCOFE3
MOV
MOV
MOV
CLC
000406 BIT

MOV
ASH(

2%: ASHC
4%: MFPS
.WORD

BEQ
JSR

42

INC
CMP
BEQ
JSR

43
BEQ
JSR

Lh
MOV

BEQ
JSR

45

INC
CMP
BGE
INC

REGO1:

000432

ASHC INSTRUCTION TESTS

AT R AR RN

STESTS 63=157

:ttttt.!'llttt

#62 ,a#COUNT
AN TEMP1
#1,8TEMP2
AN TEMP3
SN TEMPS
#1,98TEMPS
a# TEMPE

R5,R2
INTEMP1,%0
ANTEMP2 %011

ll.iﬁSPASS

2
QNTEMP3 RS
R5,RO
4%
TEMP3, %0
a#PSWORD
106700!..C

QM TEMP6 ,a#PSWORD ; COMPARE PS WITH THE CONTENTS OF TEMP6

.+10

PC,SHLT

a#COUNT
aNTEMPS X0
.+10
PC,SHLT

SNTEMPS , %1
.+10
PC,SHLT

R2 RS
(RS) , a#COUNT
.+10

PC,SHLT

(RS)

(R5) ,#160
6%

ANTEMP3

; TEMP
:TEMP2
:TEMP3
; TEMP4
:TEMPS=
:0 1 SHIFTED BY 0=0 1, PS=0

Hwnnhn
—_-00—=0

:SAVE RS
:PLACE THE CONTENTS OF TEMP1 IN REGISTER 0
:PLACE THE CONTENTS OF TEMPZ2 IN REGISTER 1

;1S IT AN EVEN PASS ?
:1F NOT THEN GO TO 2%
:OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
JUSING RO

;ASHC REGISTER O BY THE CONTENTS OF TEMP3

;SAVE PS

;SEEN AN ERROR, GO TO TH
;WRONG PS

HALT ROUTINE

;1S THE RESULT IN RO SAME AS TEMP4?

sSEEN AN ERROR, GO TO TH
;WRONG RESULT IN RO

HALT ROUTINE

;1S THE RESULT IN R1 SAME AS _TEMP5?

;TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS

;AND PS=TEMP6
;SEEN AN ERROR, GO TO TH
;WRONG RESULT IN R1

;RESTORE R5
;1S TEST NUMBER=COUNTER?

:SEEN AN ERROR, GO TO TH
:NO

;HAVE THE FIRST 159 TEST BEEN EXECUTED?

;YES

HALT ROUTINE

HALT ROUTINE

“EQ 0027
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CVKABB.P11 14-SEP=-81 16:3 ASHC INSTRUCTION TESTS
1122 003616 000241 cLe
1123 003620 006137 000444 ROL ANTEMPS :ROTATE TEMPS LEFT BY 1 PLACE
1124 003624 006137 000442 ROL ANTEMPS “INTRODUCE CARRY FROM TEMP4 [N TEMPS
1125 003630 021527 000121 CMP (RS) ,#121 S1S IT TEST 1212
1126 003634 001004 BNE REG23 :
1127 003635 004467 000410 JSR R4 .RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
1128 003642 0047’7 000440 68 : JSR %7.TST160
1129 003646 0107¢ REG23: SCOPE1 2
1130 003650 01370z 000434 MOV ANTEMP1, %2 -PLACE THE CONTENTS OF TEMP1 IN REGISTER 2
1131 003654 013703 00436 MOV ANTEMP2.%2'1 ‘FLACE THE CONTENTS OF TEMP2 IN REGISTER 3
1132 003660 000241 cLC
1133 003662 032737 000001 000406 BIT #1,348PASS ;IS IT AN EVEN PASS ?
1134, 003670 001004 BNE 2% “IF NOT THEN GO TO 2%
1135 003672 013704 000440 MOV AM#TEMP3,R4 *OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
1136 003676 073204 ASHC  R&4,R2 *USING R2
1137 003700 000402 BR 4%
1138 003702 073267 174532 28: ASH( TEMP3, %2 :ASHC REGISTER 2 BY THE CONTETNS OF TEMP3
1142 003706 4%: MFPS a#PSWORD :SAVE PS
(1) 003706 106737 .WORD  106700'..C
1146 003712 123737 000446 000432 CMPB ANTEMPG ,a#PSWORD ; COMPARE PS WITH THE CONTENTS OF TEMP6
1147 003720 001403 BEQ .+10
1148 003722 004767 013166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) ;WRONG PS
(2) 003726 000046 46
1149 003730 005237 000430 INC A#COUNT
1150 003734 023702 000442 CMP ANTEMPS , %2 :1S THE RESULT IN R2 SAME AS TEMP4?
1151 003740 001403 BEQ .+10
1152 003742 004767 013146 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :WRONG RESULT IN R2
(2) 003746 000047 47
1153 003750 023703 000444 CMP AMTEMPS , X3 ;1S THE RESULT IN R3 SAME AS TEMPS?
1154 003754 001403 BEQ .+10 “TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS
1155 SAND PS=TEMP6
1156 003756 004767 013132 JSR PC,SHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) :WRONG RESULT IN R
(2) 003762 000050 50
1157 003764 021537 000430 CMP (RS) ,a#COUNT ;1S TEST NUMBER=COUNTER?
1158 003770 001403 BEQ .+10
1}33 003772 004767 013116 JSR PC,SHLT ;gsen AN ERROR, GO TO TH HALT ROUTINE
(2) 003776 000051 51
1160 004000 005215 INC (RS)
1161 004002 021527 000160 CMP (RS) ,#160 :HAVE THE FIRST 159 TEST BEEN EXECUTED?
1162 004006 002014 BGE 33 YES
1163 004010 005237 000440 INC INTEMP3
1164 004014 000241 cLC
1165 004016 006137 000444 ROL ANTEMPS :RCTATE TEMPS LEFT BY 1 PLACE
1166 004022 006137 000442 ROL AN TEMPL “INTRODUCE CARRY FROM TEMPS IN TEMP4
1167 004026 021527 000121 CMP (RS) ,#121 SIS IT TEST 1212
1168 004032 001004 BNE REG4S
1169 004034 004467 000212 JSR R4 ,RITSH <IF SO THEN GO AND INITIATE RIGHT SHIFT
1170 004040 004767 000242 6% : JSR X7.7T5T160
1171 004044 010701 REG4S: SCOPE1
1172 004046 010501 MOV RS,R1 :SAVE RS
1173 004050 013704 000434 MOV #TEMPT, X4 "PLACE THE CONTENTS OF TEMP1 IN REGISTER &
1174 004054 013705 000436 MOV ANTEMP2 %411 "PLACE THE CONTENTS OF TEMP2 IN REGISTER S
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000001
000440

174332

000446
012766
000430
000442
012746

000444
012732

000430
012716

000160
000440
000444
000442
000121
000010
000040
177172
37 040000
000442
000444
000160
000434

000442
000004 000446

000406

000432

000434
000440
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ASHC INSTRUCTION TESTS

2%:
(%:

6%:
8%:
RITSH:

TST160:

CLC
BIT
BNE
MOV
ASH(
BR
ASHC
MFPS
.WORD
CMPB
BEQ
JSR

52

INC
CMP
BEQ
JSR

53
CMP
BEQ

JSR

54

CMP
BEG
JSR

55

MOV
INC
CMP
BGE
INC
CLC
ROL
ROL
CMP
BNE
JSR
JSR
JMP
CMP
MoV
CLR
Moy
CLR
INC
RTS
(MP
BNE
CLR
CLR
MOV

#1,3#8PASS

2

¥ TEMP3 RO
RO,R&

48
TEMP3, %4
a#PSWORD
106700!..C

;1S IT AN EVEN PASS ? |
*1F NOT THEN GO TO 2%

*OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
*USING R4

;ASHC REGISTER & BY THE CONTENTS OF TEMP3
;SAVE PS

a# TEMP6 ,a#PSWORD ; COMPARE PS WITH THE CONTENTS OF TEMP6

.+10
PC,SHLT

a#COUNT
ANTEMPSL , %4
.+10
PC,SHLT

a#TEMPS %5
.+10

PC,SHLT

(R1) ,a#COUNT
.+10
PC,SHLT

R1,RS
(RS)
(25).#160

6
QN TEMP3

SN TEMPS
AN TEMP4
(R5) ,#121
8$

R4 ,RITSH
X7.75T160
REGO1

(R&)+, (R&)+
#40000, a4 TEMP1
ansnpé
#-30. ,a#TEMP3
NTEMPL
azrsnps

R

(R5) ,#160
TST161

N TEMP1

AN TEMPS

#4 ,QNTEMPO

:SEEN AN ERROR, GO TO TH HAL: ROUTINE
;WRONG PS

;1S THE RESULT IN R4 SAME AS TEMP4?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN R4

;1S THE RESULT IN RS SAME AS TEMP5?
;TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4& TEMPS
;AND PS=TEMP6

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG RESULT IN RS

;1S TEST NUMBER=COUNTER?

:gSEN AN ERROR, GO TO TH HALT ROUTINE

;RESTORE RS

:v?gf THE FIRST 159 TEST BEEN EXECUTED?

;JROTATE TEMPS LEFT BY 1 PLACE
: INTRODUCE CARRY FROM TEMPS5 IN TEMP&
;1S IT TEST 1212

;1IF SO THEN GO AND INITIATE RIGHT SHIFT

:MAKE R4 POINT TO THE NEXT REG TAG
;TEMP1=4000
s TEMP2=0

IS IT TEST 160

:1F NOT THEN TRY TEST 161
:0 0 SHIFTED BY 0

;1S EQUAL TO 0 O

:AND PS=4

SEQ 0024
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" CVKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0025
1228 004332 000207 RTS 17
1229 004334 021527 000167 IST161: CMP (RS) ,#161 21§ 1T TEST 161
1230 004340 001004 BNE 157162
1231 006342 012737 177746 000440 MOV #-32.9#TEMP3 ;0 O SHIFTED BY =32=0 0, PS=4
123; 004350 000207 RTS 17 .
1233 004352 021527 000162 1ST162: CMP (RS) ,#162 218 IT TEST 162
1234 004356 001004 BNE 1ST163 “IF NOT THEN TRY TEST 163
1235 004360 012737 000032 000440 MOV #32,aXTEMP3 0 0 SHIFTED BY 32=0 0, PS=4
1236 004366 000207 RTS %
1237 004370 021527 000163 TST163: CMP (RS) ,#163 218 IT TEST 1632
1%38 004374 001016 BNE 157164 “IF NOT THEN TRY TEST 164
1239 004376 012737 052525 000434 MOV #52525.34TEMP1 352525 0
1240 004404 012737 177760 000440 MOV #-16. .a#TEMP3  :SHIFTED BY -16.
1241 004412 005037 000442 CLR INTEMPS
1242 004416 012737 052525 000444 MOV #52525,a#TEMPS ;1S EQUAL TO 0 52525
1243 004454 005037 000446 CLR ANTEMP SAND PS = 0
1244 004430 000207 RTS 17
1245 004432 021527 000164 TST164: CMP (RS) , 4164 :IS IT TEST 1642
1246 004436 001014 BNE 1ST165 “IF NOT THEN TRY TEST 165
1247 004440 012737 125252 000434 MOV #125252 ,a#TEMP1 :125252 O SHIFTED BY =-16.
1248 004446 005337 000442 DEC INTEMPS
1249 004452 012737 125252 000444 MOV #125252 ,a#TEMPS :1S EQUAL TO =1 125252
1250 004460 012737 000010 000446 MOV #10,a#TEMP6 “AND PS=10
1251 004466 000207 RTS X7
1255 004470 021527 000165 5T165: CMP (RS) ,#165 :1S IT TEST 165?
1253 004474 001007 BNE TST166 *IF NOT THEN TRY TEST 166
1254 004476 012737 177777 000434 MOV #=1,34TEMP1 ‘=1 0 SHIFTED BY =16
1255 004504 012737 177777 000444 MOV #=1.INTEMPS *1S EQUAL TO -1 =1, AND PS=10
1256 004512 000207 RTS %7
1257 004514 021527 000166 TST166: CHP (RS) ,#166 :IS IT TEST 1662
1258 004520 001011 BNE 157167 “IF NOT THEN TRY TEST 167
1259 004522 012737 100000 000434 MOV #100000,3#TEMP1 :100000 O
1260 004530 012737 177740 000440 MOV #-32. ,a#TEMP3  -SHIFTED BY =32 IS EQUAL TO -1 -1
1261 004536 005237 000446 INC IMTEMPE SAND PS=11
1262 004542 000207 RTS 17
1263 004544 021527 000167 1ST167: CMP (RS) ,#167 ;1S IT TEST 1672
1264 004550 001014 BNE 1ST170 *1F NOT THEN TRY TEST 170
1265 004552 005037 000434 CLR NTEMPI
1266 004556 005337 000436 DEC INTEMP?2 :0 -1
1267 004562 012737 000020 000440 MOV #16. ,a#TEMP3  :SHIFTED BY 16.
1268 004570 005037 000444 CLR INTEMPS “1S EQUAL TC =1 0
1269 004574 005237 000446 INC INTEMPS *AND PS=12
1270 004600 000207 RTS 17
1571 004602 021527 000170 TST170: CMP (R5) ,#170 ;IS 1T TEST 170?
1 7§ 004606 001007 BNE 1ST171 “IF NOT THEN TRY TEST 171
1273 004610 012737 125252 000436 MOV 4125252 ,a#TEMP2 -0 125252 SHIFTED BY 16
1274 004616 012737 125252 000442 MOV #125252 "a#TEMPS -1S EQUAL TO 125252 0, AND PS=12
1275 004624 000207 RTS %7
1576 004626 021527 000171 TST171: CMP (RS) ,.#171 ;IS IT TEST 1712
1277 004632 001010 BNE 1ST172 *IF NOT THEN TRY TEST 172
1278 634 005337 000440 DEC ANTEMP3 0 125252 SHIFTED BY 15
1279 004640 012737 052525 000442 MOV #52525 . a#TEMP4  :1S EQUAL TO 52525 0
1280 643 005037 000446 CLR INTEMP *AND PS=0
1281 004652 000207 RTS 17 .
1282 004654 021527 000172 1ST172: CMP (RS) ,#172 21S IT TEST 1722
1283 004660 001006 BNE 1$T173 “IF NOT THEN TRY TEST 173
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. CVKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 002
|
. 1284 004662 012737 052525 000436 MOV 452525 ,a#TEMP2 ;0 52525
1285 004670 005237 000440 INC INTEMPS “SHIFTED BY 16. IS EQUAL TO 52525 0, AND PS$=0
1286 004674 ooogor RTS 17
1537 004676 021527 000173 TST173: CMP (RS) ,#173 218 IT TEST 1732
1288 004702 001014 BNE TST174 “IF NOT THEN TRY TEST 174
1289 004704 012737 177777 000436 MOV #-1,3#TEMP2 20 -1
1290 004712 005337 000440 DEC MTEMPS *SHIFTED BY 15.
1291 004716 012737 077777 000442 MOV K77777 AN TEMPS
1292 004724 012737 100000 000444 MOV #100000,3#TEMPS ;1S EQUAL TO 77777 100000, AND PS=0
1293 004732 000207 RTS 17
1294 004734 021527 000174 1ST174: CMP (R5) ,#174 21S IT TEST 1742
1295 004740 001013 BNE 157175 “IF NOT THEN TRY TEST 175
1296 004742 012737 100000 000434 MOV #100000,a# TEMP1
1297 004750 005337 000436 DEC I#TEMP2 :100000 -2 SHIFTED BY 15.
1298 004754 005037 000444 CLR ANTEMPS *1S EQUAL TO 77777 0
1299 760 012737 000002 000446 MOV #2 .M TEMPE SAND PS§=2
1300 004766 000207 RTS %7
1301 004770 021527 000175 TST175: CMP (RS) ,#175 <IS IT TEST 175?
130§ 004774 001015 BNE ENT176 “IF NOT THEN TRY TEST 76
1303 004776 012737 177777 000434 MOV #-1,34TEMP1
1304 005004 005037 000436 CLR INTEMP? ;=10
1205 005010 005237 000440 INC MTEMP3 *SHIFTED BY 16.
1306 005014 005037 000442 CLR ANTEMPS “1S EQUAL TO 0 0
1307 005020 012737 000007 000446 MOV 47 . IMTEMPE :AND PS=7
1308 005026 000207 RTS X7
1309 005030 021527 000176 ENT176: CMP (R5) ,#176 :1S THE PROGRM ENTERING TEST 1762
1310 005034 001403 BEQ .+10
1311 005036 004767 012052 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) “TEST NUMBER GOOFED
1§$5 005042 000056 56
}§12 005044 005726 ST (SP)+ :RESTORE STACK POINTER
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000001
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ASHC INSTRUCTION TESTS

T T332 22%2222222223%t:23222333 3332333332022 2Rt il)

1 SHIFTED BY 8. = 400 PS =0

;ﬂ'*.tttiti.ttttl.t‘tti't'.'tlliitilltttttitttttﬁt'l.QQQ.Q!tttttittt'

CTEST:176

TST176: SCOPE1
MOV
MOV
CLC
ASHC
MFPS
. WORD
CMPB
BEQ
JSR

57

CMP
BEQ
JSR

60

CMP
BEQ
JSR

61
INC

#DUMMY , X1
#1311

#8..%1
a#PSWORD
106700!..C
#0,a#PSWORD
.+10
PC,SHLT
#400,%1
.+10
PCSHLT
(RS) ,#176
+10

PC,SHLT

(R5)

;LOAD R1 WITH DUMMY
;LOAD R1!1 WITH 1

;SHIFT R1,R1!1 BY 8.
; SAVE PS

;1S THE PS 0?

sSEEN AN ERRCR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO O

;1S THE RESULT 400?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:R1 IS NOT EQUAL TO 400

;1S STESTN = #176?
;IF NOT THEN GO TO HLT
sSEEN AN ERROR, GO TO TH HALT ROUTINE
sTEST IS IN WRONG SEQUENCE

23233122322 2222222322232223 323233322333 3333332222222 22200ttt

-1 SHIFTED BY 15. = 100000 PS = 11

:*tttttit!iltttittttitttti*titlt.ti***iittitit*tt*tttttttttﬁttttttttt

CTEST:177

TST177: SCOPE1
MOV

MOV
CLC
ASHC
MFPS
. WORD
CMPB
BEQ
JSR

62

CMP
BEQ
JSR

€3

CMP
BEQ
JSR

64
INC

A#DUMMY , 23
#-1,%3!11

#15.,%3
a#PSWORD
106700!..C
#11,a#PSWORD
.+10
PC,SHLT
#100000,%3
+10

PC,SHLT

(RS) . #1177
.+10
PC,SHLT

(R5)

;LOAD R3 WITH DUMMY
;LOAD R3!1 WITH =1

;SHIFT R3,R3!1 BY 15.
; SAVE PS

;1S THE PS 11?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 11

;1S THE RESULT 1000007

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;R3 IS NOT EQUAL TO 100000

;1S STESTN = 1777
;IF NOT THEN GO TO HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTEST IS IN WRONG SEQUENCE

SEQ 0027
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001403
004767

000065
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001403
004767

000066
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021527
001403
004767

000067
005215

000070
022701
001403
004767

000071
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000000
052525

000000

000000
011614

052525
011600

000200
011562

000000
020010

177763

000000
011516

000101
011502

000201
011466

000432

000432
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ASHC INSTRUCTION TESTS

2232322222222 222333%33332333323323332232 222222000l il il il

52525 SHIFTED BY 0 = 52525 PS =0

:titt.lttittItt&ﬁ..tlittttittllttﬁtt!tttﬁt.tt‘ttt.t.ttttttttttttttttt

STEST:200

TST200: SCOPE?
MOV

MOV
MOV
cLC
ASHC
MFPS
.WORD
CMPB
BEQ
JSR

65

CMP
BEQ
JSR

66

MOV
CMP
BEQ
JSR

67
INC

R5,.R1
#DUMMY , %5
#52525,%5!1

#0,%5
a#PSWORD
106700!..C
#0 ,3#PSWORD
.+10

PC,SHLT

#52525.,%5
.+10
PC,SHLT
R1.R5
(R5),#200

.+10
PC,.SHLT

(R5)

:SAVE RS
:LOAD R5 WITH DUMMY
:LOAD R5!1 WITH 52525

sSHIFT RS,R5!1 BY O
:SAVE PS

;1S THE PS 0?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO O

;1S THE RESULT 52525?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:R5 IS NOT EQUAL TO 52525

;RESTORE R5
;1S STESTN = #200?
;IF NOT THEN GO TO HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTEST IS IN WRONG SEQUENCE

1223222222222 222222223233323233 3233332323222 2022222 222 0iR it il

“TEST:201

20010 SHIFTED BY -13. = 101

PS = 0

:ttt**tit.!itttititttiittii!Qtit.tttltittttttttitttttttttt'itttt't.Qt

TST201: SCOPE1
MOV
MOV
CLC
ASH(
MFPS
.WORD
CMPB
BEQ
JSR

70

CMP
BEQ
JSR

71

(MP
BEQ
JSR

#DUMMY , X1
#20010,%111

#-13..%1
a#PSWORD
106700!..C

#0,3#PSWORD
+10

PC,SHLT

#101.,%1
.+10
PC,SHLTY

(R5) ,#201
.+10
PC,SHLT

;LOAD R1 WITH DUMMY
;LOAD R1!1 WITH 20010

;SHIFT R1,R1!1 BY -13.
: SAVE PS

;1S THE PS 0?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0

;1S THE RESULT 1012

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;R1 IS NOT EQUAL TO 101

;1S STESTN = #2012

;1F NOT THEN GO TO HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE
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ASHC INSTRUCTION TESTS

72
INC

(RS)

—

5EQ 0030
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1319 ;tttttttttttttttttttttttttttttttattatatntntnn.nmtn-------...-q-aa..
(1) :TEST:202 -1 SHIFTED BY 16. =0 PS = 11
(1) :tttttﬁttttttttttttttttt"ttttitttttl'tttttttlttttttttttt’.ttt.cntcct
(1)
(1) 005432 010701 1S1202: SCOPE1 :
(1) 005434 012703 000000 MOV #DUMMY , %3 :LOAD R3 WITH DUMMY
(1) 005440 012703 177777 MOV #-1,%301 ;LOAD R3!1 WITH =1
(1) 005444 000241 CLC
(1) 005446 073327 000020 ASHC( #16.,%3 :SHIFT R3,R3!1 BY 16.
(1) 005452 MFPS a#PSWORD ;SAVE PS
(2) 005452 106737 .WORD 106700!..C
(1) 005456 122737 000011 000432 CMPB #11,3#PSWORD ;1S THE PS 112
(1) 005464 001403 BEQ . +10
(3) 005466 004767 011422 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 11
(3) 005472 000073 73
(1) 005474 022703 000000 CMP #0,%3 ;1S THE RESULT 07?
(1) 005500 001403 BEQ .+10
(3) 005502 004767 011406 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :R3 IS NOT EQUAL TO 0
(3) 005506 000074 74
(1) 005510 021527 000202 CMP (R5) ,#202 ;1S STESTN = #202?
(1) 005514 001403 BEQ .+10 ;IF NOT THEN GO TO HLT
(3) 005516 004767 011372 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
(3) 005522 000075 75
(1) 005524 005215 INC (RS)
ik
1320 AR AR R AR AR KRR AN RN AR AR AR AR R R R AR R AR R AR A RAR AR AR AR
(1N :TEST:203 1 SHIFTED BY =1 = 100000 PS =1
(1) RN R R AR RN AR AN AR AR AR AR R AR R RSN
(1)
(1) 005526 010701 TST203: SCOPE1
(1> 005530 010501 MOV R5,R1 :SAVE RS
(1) 005532 012705 000000 MOV #DUMMY , %5 :LOAD RS WITH DUMMY
(1) 5536 012705 000001 MOV #1,%5!1 ;LOAD R5!'1 WITH 1
(1) 005542 000241 CLC
(1) 005544 073527 177777 ASHC #=-1,%5 :SHIFT R5,R5!'1 BY -1
(1) 005550 MFPS a#PSWORD ;SAVE PS
(2) 005550 106737 .WORD 106700!..C
(1) 005554 122737 000001 000432 CMPB #1,a#PSWORD :1S THE PS 1?
(1) 005562 001403 BEQ .+10
(3) 005564 004767 011324 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :THE PS IS NOT EQUAL TO 1
(3) 005570 076 76
(1) 005572 022705 100000 CMP #100000,2%5 ;1S THE RESULT 100000?
(1) 005576 001403 BEQ .+10
(3) 005600 004767 011310 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) . *RS IS NOT EQUAL TO 100000
(3) 005604 000077 77
(1) 005606 010105 MOV R1,R5 :RESTORE RS
(1) 005610 021527 000203 CMP (R5),#203 ;1S STESTN = #2032
(1) 005614 001403 BEQ 410 :IF NOT THEN GO TO HLT
(3) 005616 004767 011272 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE
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ASHC INSTRUCTION TESTS

100
INC

(RS)
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TVEKABB P11 14-SEP=-81 16: %1 ASHC INSTRUCTION TESTS SEQ 0033

1321 "ttt.tltttttttttl.ttttttti'ttlltttt'lttttitt'l!ttttttttt-tttttttntttt
(1) ;TEST:204 125252 SHIFTED BY =16. = 125252 PS = 11
£1) .-ttttttttttn-t.-tttttttttttttnQttttnt-t-t-ttttttn-tt-ttt-tn-t----c--
(1)

(1) 0056§8 010701 TST204: SCOPE1 _

(1) 0056 012701 000000 MOV #DUMMY 21 ;LCAD R1 WITH DUMMY

(1) 005634 012701 125252 MOV #125258,%1!1  :LOAD R1!1 WITH 125252

(1) 005640 000241 (Le

(1) 005642 073127 177760 ASHC #-16..,%1 ;SHIFT R1,R1!1 BY =16.

(1) 005646 MFFS iﬁPSUORD . SAVE PS

(2) 005646 106737 .WORD 106700!.

(1) 005652 122737 000011 000432 (MPB #11 alPSHORD ;15 THE PS 112

(1) 005660 001403 BEQ .+10

(3) 005662 004767 011226 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) THE PS IS NOT EQUAL TO 11

(3) 005666 000301 101

(1) 005670 022701 125252 CMP #125252.,%1 ;1S THE RESULT 125252?

(1) 0056764 001403 BEQ .+10

(3) 005676 004767 011212 JSR °C,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :R1 IS NOT EQUAL TO 125252

(3) 005702 000102 102

(1) 005704 021527 000204 CMP (R5) ,#204 ;1S STESTIN = #204?

(1) 005710 001403 BEQ .+10 IF NOT THEN GO TO HLT

(3) 005712 004767 011176 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE

(3) 005716 000103 103

(}; 005720 005215 INC (RS)

(

(1)

1322 ;ttt-ttttnttttnttntttttttttttttttttttttttttttt-tntttttttttntttttttttt
(1) ;TEST:205 125252 125252 SHIFTED BY 21. = 52500 000000 PS = 3
(1) ;ttttttttttttttttttttttttttttttttttttttttttttttttnttttttttttttttttttt
(1)

(1) 005722 010701 TST205: SCOPE1

(1) 005724 012702 125252 MOV #125252,%2 ;LOAD R2 WITH 125252

(1) 005730 012703 125252 MoV #125252,%2!1 *LOAD R2'1 WITH 125252

(1) 005734 000241 CLC

(1) 005736 073227 000025 ASH( #21..%2 JSHIFT R2,R2!1 BY 21.

(1) 005742 MFPS a#PSWORD ;SAVE PS

(2) 005742 106737 .WORD 106700!..C

(1) 005746 122737 000003 000432 CMPB #3,3#PSWORD ;1S THE PS 3?

(1) 005754 001403 BEQ .+10

(3) 005756 004767 011132 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 3

(3) 005762 000104 104

(1) 005764 022702 052500 (MP #52500,%2 ;IS THE RESULT 525007

(1) 005770 001403 BEQ .+10

(3) 005772 004767 011116 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :R2 1S NOT EQUAL TO 52500

(3) 005776 000105 105

(1) 006000 022703 000000 CMP #000000 %21 ;1S THE RESULT 000000?

(1) 006004 001403 BEQ

(3) 006006 004767 011102 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :R2'1 IS NOT EQUAL TO 000000

(3) 006012 000106 106

(1) 006014 021527 000205 (MP (R5) ,#205 ;1S STESTN = #205?
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CVKABB.P11 14-SEP=-81 16: 17 ASHC INSTRUCTION TESTS SeEQ 00

(M 88285? 882&03 BEQ .+10 :1F NOT THEN GO TO HLT
(3) 767 011066 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:g; " 107 107 :TEST IS IN WRONG SEQUENCE
m %350 005215 INC (RS)
(1)
1323
1326 006032 01270 177771 MOV n-7,%2
1325 0060 012703 000454 MOV #S1,%3
}gzg 006042 012704 000456 MOV #S2,%4
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000111
022701
001403

004767

000112
021527
001372
005215

O—— OQ000O

004767

000113
022700
001403
004767

000114
022701
001403

Y1112 2222222222323 2232333332332t il il

125252 125252 SHIFTED BY S1 = 177525 52525 PS = 10

."t.!t.!iittlllItttﬁtﬁtt"'i.tt'tttitttltttttttttt!.tt'ti.ttttttt.tt-t

LOAD RO WITH 125252
:LOAD R0'1 WITH 125252

;SHIFT RO,RO!1 BY §1
:SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

;1S THE RESULT 177525?

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525

;1S THE RESULT 52525?

gsg N AN ERROR, GO TO TH HALT ROUTINE

;1S THE STESTN = #206?

;IF NOT THEN GO TO HLT ABOVE

2220322222222 222223232232322233 3233333323333 323283222 222220 RRddtlnlld)

125252 125252 SHIFTED BY @S2 =

177525 52525 PS = 10

.'ttitiitti'.tit.tﬁ!tt..‘ii.tttlitiiiﬁttt*t*tttttttttittttlt*titittttt

14-SEP-81 16:32 PAGE 4=30
16:31 ASHC INSTRUCTION TESTS
TTEST: 206
1ST206: SCOPE?
125252 MOV #125252,%0
125252 ?Eg #125252.%0'1
172366 ASHC  S1,%0
MFPS  a#PSWORD
WORD  106700'..C
000010 000432 CMPB  #10,a#PSWORD
BEQ .+10
011006 JSR PC,SHLT
110
177525 CMP #177525,%0
BEQ .+10
010772 JSR 5C,$HLT
111
052525 CMP #52525,%0'1
= BEQ .+10
010756 ' JSR PC,SHLT
112
000206 CMP (RS) ,#206
BNE 1$
INC (K5)
STEST:207
1ST207: SCOPE1
125252 MOV 125252,
125252 ?Eg #125252.%0!1
172266 ASHC  @52,%0
MFPS axpsuono
.WORD  106700'.
000010 000432 P8 #10 a:vswono
BEQ +1b
010704 JSR PC.SHLT
113
177525 CMP #177525,%0
BEQ .+10
010670 JSR PC,SHLT
114
052525 CMP #52525,%0'1
BEQ .+10

1%:

:LOAD RO WITH 125252
;LOAD RO'1 WITH 125252

;SHIFT RO,RO!1 BY @S2
;SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

;1S THE RESULT 177525?

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
RO IS NOT EQUAL TO 177525

;1S THE RESULT 52525?

IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
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006242 0215;7 000207
001372

006250 005215

16:32 PAGE 4-31

ASHC INSTRUCTION TESTS

JSR

115
CMP
BNE
INC

PC,SHLT

(RS) ,#207
1%
(R5)

SEEN AN ERROR, GO TO TH HALT ROUTINE
i1 1S NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

;1S THE STESTN = #2077

SEEN
0

;IF NOT THEN GO TO HLT ABOVE

SEQ 0036
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(VEKABB.P11 14~SEP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0057
1330 L LT T L L L L L L b iedabietdedebotaiiubeindedioiaiduiniedbeiniaiddeleiedoddadelddeialeleeleal
(1) :TEST:210 125252 125252 SHIFTED BY a#S1 = 177525 52525 PS = 10
(1} AR AR AR AR AR AR AR R A NN AR R AR R AR R AR R RN A RN AR ae
(1)

(1) 006252 010701 TST210: SCOPE1 _
(1) 006254 012700 125252 MOV #125252.,%0 LOAD RO WITH 125252
(1) 006260 012701 125252 MOV #125252,%0!1 ;LOAD RO'I WITH 125252
(1) 006266 000241 CLC
(1) 006266 073037 000454 ASH(C a#s1,%0 ;SHIFT RO,RO!1 BY a#s1
(1) 006272 MFPS a#PSWORD ;SAVE PS
(2) 006272 106737 .WORD  106700!..C
(1) 006%76 122737 000010 000432 CMPB #10, a#PSWORD ;1S THE PS 10?
(1) 04 001403 BEQ .+10
(3) 006306 004767 010602 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10
(3) 006312 000116 116
(1) 006314 022700 177525 CMP #177525,%0 ;1S THE RESULT 177525?
(1) 006320 001403 BEQ .+10
(3) 006322 004767 010566 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) :RO IS NOT EQUAL TO 177525
(3) 006326 000117 117
(1) 006330 022701 052525 CMP #52525,%0!1 ;1S THE RESULT 525257
(1) 006334 001403 BEQ 410
(1) 006336 1%:
(3) 006336 004767 010552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006342 000120 120
(1) 006344 021527 000210 CMP (R5) ,#210 ;1S THE STESTN = #210?
(1) 006350 001372 BNE 1% ;IF NOT THEN GO TO HLT ABOVE
(1) 006352 005215 INC (R5)
i
1331 L L L L L L L L R bt b bbededeiabninbedioiodadnduiuidoioiohoieddeddodedubedefuboboinioloboioioh oo
(1 ;TEST: 211 125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10
(1 RN RN AR AR AR AR R R AR AR AR AR R AR AR AR R AR AR AR AR R AR RO A AR AR A
(1)
(1) 006354 010701 TST211: SCOPE1
(1) 006356 012700 125252 MOV #125252,%0 LOAD RO WITH 125252
(1) 006362 012701 125252 MoV #125252.,%0!1 :LOAD RO'I WITH 125252
(1) 006 000241 CLC
(1) 006370 073013 ASHC (3),%0 ;SHIFT RO,RO!1 BY (3)
(1) 006372 -~ MFPS alPSHORD ;SAVE PS
(2) 006372 106737 .WORD  106700!.
(1) 006376 122737 000010 000432 CMPB #10 ilPSUORD ;1S THE PS 10?
(1) 006404 001403 BEQ .+10
(3) 00 06 004767 010502 JSR PC,.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10
(3) 006412 000121 121
(1) 006414 022700 177525 CMP #177525,%0 ;1S THE RESULT 177525?
(1) 006420 001403 BEQ .+10
(3) 006422 004767 010466 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) :RO IS NOT EQUAL TO 177525
(3) 006426 000122 122
(1) 006430 022701 052525 CMP #52525,%0!1 ;IS THE RESULT 52525?
(1) 006434 001403 BEQ .+10
(1) 006436 1%:
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006436

006442
006444
006450
006452

14-SEP-81 16:31
004767 010452
000123
021527 000211
001372
005215

ASHC INSTRUCTION TESTS

JSR

123
CMP
BNE
INC

PC,SHLT

(R5) ,#211
1$
(R5)

EN AN ERROR, GO TO TH HALT ROUTINE
'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

;1S THE STESTN = #2112

:SE
:RO

~ s1F NOT THEN GO TO HLT ABOVE

SEQ 0038



- DVKABA MACY11 30(1046)
. CVKABB.P11 14-SEP-81
1332
(1)
(1)
(1)
(1) 006454 010701
(1) 006456 012700
(1) 006462 012701
(1) 0064 000241
(1) 006470 073023
(1) 00647
(2) 006472 106737
(1) 006476 122737
(1) 006504 001403
%%; 006506 004767
(3) 006512 000124
(1) 006514 022700
(1) 006520 001403
i%; 006522 004767
(3) 006526 000125
(1) 006530 022701
(1) 006534 001403
(1) 006536
i%; 006536 004767
(3) 006542 000126
(1) 006544 021527
(1) 006550 001372
g;; 006552 005215
(1)
1333
(1)
(1)
(1)
(1) 006554 010701
(1) 006556 012700
(1) 006562 012701
(1) 006566 000241
(1) 006570 073043
(1) 006572
(2) 006572 106737
(1) 006576 122737
(1) 006604 001403
%i; 006606 004767
(3) 006612 000127
(1) 006614 022700
(1 006650 001403
i%; 006622 004767
(3) 006626 000130
(1) 006630 022701
(1) 006634 001403
(1) 006636

14-SEP-81

16:31

000010
010402

177525
010366

052525

010352

000212

000010
010302

177525
010266

052525

000432

000432

16:32 PAGE 4-34

ASHC INSTRUCTION TESTS

221222222223 22222%3323332323323 3333333322222 Rttt i)

STEST:212

125252 125252 SHIFTED BY (3)+ = 177525 52525 PS = 10

:tttttttiﬁttt'tttiittti'iti.tt'.tittﬁt!ltﬁﬁt‘itttiiﬂittttntttitttl.tt

TST212: SCOPE1
MOV

MOV
CLC
ASHC
MFPS
.WORD
CMPB
BEQ
JSR

124
CMP
BEQ
JSR

125
CMP
BEQ

JSR

126
CMP
BNE
INC

1%:

#125252.%0 ‘ :LOAD RO WITH 125252

#125252,%0!'1 :LOAD RO'1 WITH 125252

(3)+,%0 +SHIFT RO,RO!'1 BY (3)+

a#PSWORD :SAVE PS

106700!..C

:1qéaxpswono ;1S THE PS 10?

=

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 10

x1;6525.zo :1S THE RESULT 177525?

.

oC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

;RO IS NOT EQUAL TO 177525
#5$325,10!1 ;IS THE RESULT 52525?
.+

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

;RO!'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(R5) ,#212 ;1S THE STESTN = #212?
}:5) :IF NOT THEN GO TO HLT ABOVE

Y312 22222222322322222322223332 323323333333 2323333332333 220 200202000 0RdRd)

TTEST:213

125252 125252 SHIFTED BY -(3) = 177525 52525 PS = 10

:*tt*ttttttttittttttﬁtt'i*tti.ittt**ttitttiittttttitttitttttt.tttttti

TST213: SCOPE1
MOV

MOV
CLC
ASH(
MFPS
.WORD
CMPB
BEQ
JSR

127
CMP
BEQ
JSR

130

CMP

BEQ
1%:

#125252,%0 ;LOAD RO WITH 125252

#125252,%0!1 ;LOAD RO'1 WITH 125252

-(3),%0 ;SHIFT RO,RO!1 BY =(3)

a#PSWORD :SAVE PS

106700!..C

#1?68IPSUORD ;1S THE PS 10?

.+

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

#1{5525.10 ;1S THE RESULT 177525?

.4

PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE

;RO IS NOT EQUAL TO 177525
#5%325.10!1 ;IS THE RESULT 52525?
L+

SEG 0039
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0064636

006642
006644
006650
006652
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004767 010252

000131
21527 000213
001372
005215

16:32 PAGE 4-35

ASHC INSTRUCTION TESTS

JSR

131
CMP
BNE
INC

PC,SHLT

(RS) ,#213
1%
(RS)

; SEEN AN

:RO!T IS
;1

;IF NOT TH

ERROR, GO TO TH HALT ROUTINE
NOT EQUAL TO 52525 OR INCORRECT SEOUENCE

;1S THE STESTN = #2132

EN GO TO HLT ABOVE

SEQ 0040
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. CVKABB.P11 14-SEP=-81 16:31 ASHC INSTRUCTION TESTS

133{. tttQttttttttttttt’tttttttttttltttttttttttttttttttltttltltt't!tttltt‘
%8 TTEST: 214 125252 125252 SHIFTED BY 2(4) = 177252 125252 PS = 11
(1 ) !tltttttttttttﬁtttttttitttttttttttttttttiltttttttttt*t!ittttttttttt'
(1)

(1) 006654 010701 TST214: SCOPE1 ‘

(1) 006656 012700 125252 MOV #125252.%0 LOAD RO WITH 125252

(1) 006662 012701 125252 MOV #125252.%0'1 : LOAD no'1 WITH 125252

(1) 006666 000241 cLC

(1) 006670 073064 000002 ASHC  2(4),%0 ;SHIFT RO,RO!'1 BY 2(4)

(1) 006674 MFPS a#PSWORD :SAVE PS

(2) 006674 106737 LWORD 106700'..C

(1) 006700 122737 000011 000432 CMPB #11,3#PSWORD :1S THE PS 11?

(1) 006706 001403 BEQ .+10

(3) 006710 004767 010200 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS 1S NOT EQUAL TO 11

(3) 006714 000132 132

(1) 006716 022700 177252 CMP #177252.%0 :1S THE RESULT 177252?

(1) 006722 001403 BEQ .+10

(3) 006726 004767 010164 JSR BC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EQUAL TO 177252

(3) 006730 000133 133

(1) 006732 022701 125252 CMP #125252,%0'1 ;1S THE RESULT 1252527

(1) 006736 001403 BEQ .+10

(1) 006740 1%:

(3) 006740 004767 010150 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) R0‘1 IS NOT EOUAL TO 125252 OR INCORRECT SEQUENCE
(3) 006744 000134 134

(1) 006746 021527 000214 CMP (RS) ,#214 ;1S THE STESTN = #2142

(1) 006752 001372 BNE 1$ :1F NOT THEN GO TO HLT ABOVE

(1) 006754 005215 INC (RS)

()

1335 R L L L LR R R L L L bbbt tbiniotuiedobedoiedoiniainintaboisiodoiafalobedoboboioioiadofdolotoialoloioioloolob
(1 STEST:215 125252 125252 SHIFTED BY @l4) = 177525 52525 PS = 10
(1 ) "tt!tttttttttt‘.ttttttttiittittﬂ*ttitttttttttttltttttttttttttttttttttt
(1)

(1) 006756 010701 1ST215: SCOPE1

(1) 006760 012700 125252 MOV #125252,%0 LOAD RO WITH 125252

(1) 006764 012701 125252 MOV #125252.%0'1 :LOAD no'1 WITH 125252

(1) 006770 000241 cLC

(1) 006772 073074 000000 ASHC  @(4).%0 :SHIFT RO,RO!'1 BY a(4)

(1) 006776 MFPS a:psuoao *SAVE PS

(2) 006776 106737 .WORD 106700,

(1) 007002 122737 000010 000432 CMPB 410 alPSUDRD ;1S THE PS 10?

(1) 007010 001403 BEQ .+10

(3) 007012 004767 010076 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL TO 10

(3) 007016 000135 135

(1) 007020 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 007024 001403 BEQ .+10

(3) 007025 004767 010062 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) RO IS NOT EOUAL TO 177525

(3) 007032 000136 136

(1) 007034 022701 052525 CMP #52525,%0'1 :1S THE RESULT 52525?

(1) 007040 001403 BEO .+10

(1) 007042 1%:




s D &

| DVKABA MACYT1 30(1046) 14=SEP-B81 16:32_ PAGE 4=37
| CVKABR.P11  14-SEP=81 16:31 ASHC INSTRUCTION TESTS SEQ 0042
| | Bl i o R0T1 15 NOTEGUAL TO 53535 0R  INCORRECT SEQUENCE
N

(3) 007046 000137 137
(1) 007050 021527 000215 (P (RS),#215 ;1S THE STESTN = #2157
(1) 007054 001372 BNE 18 ~ ;IF NOT THEN GO TO HLT ABOVE
() 007056 005215 INC (RS

(1)
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CVKABB,P11 14=SEP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0043

1336 RTT IR R LR L LS L R h bbbl dodededoddadeduiedeioiodoiaindoiniodoioddiuiiodiololdoliofedefidleoleiaiaiofilil
(1) STEST:216 125252 125252 SHIFTED BY @(4)+ = 177525 52525 PS = 10
(1) "ttttl‘ttttttttlttttttttttttttttttitttt!I’tt!it‘titttQttitttttttttt-ilt
(1)

(1) 007060 010701 1ST216: SCOPE1

(1) 007062 012700 125252 MOV #125252,%0 LOAD RO WITH 125252

(1) 007066 012701 125252 MOV #125252.%011 :LOAD ao'1 WITH 125252

(1) 007072 000241 cLC

(1) 007074 073034 ASHC  @(4)+,%0 :SHIFT RO,RO!'1 BY @(4)+

(1) 007076 MFPS a#Psuono :SAVE PS

(2) 007076 106737 _WORD  106700'.

(1) 007102 122737 000010 000432 (MPB 410 acpsuono ;1S THE PS 10?

(1) 007110 001403 BEQ .+10

(3) 007112 004767 007776 JSR PC,SHLT .SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 10

(3) 007116 000140 140

(1) 007120 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252

(1) 007124 001403 BEQ .+10

(3) 007126 004767 007762 JSR OC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “RO IS NOT EQUAL TO 177525

(3) 007132 000141 141

(1) 007134 022701 052525 CMP #52525,%0'1 :1S THE RESULT 52525?

(1) 007140 001403 BEQ .+10

(1) 007142 1%:

(3) 007142 004767 007746 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :RO!T IS NOT EOUAL TO 52525 OR INCORRECT SEQUENCE
(3) 007146 000142 142
(1) 007150 021527 000216 cmp (RS) #4216 :1S THE STESTN = #216?

(1) 007154 001372 BNE 1% :IF NOT THEN GO TO HLT ABOVE
(1) 007156 005215 INC (RS)
)

1337 ;ttttttttttttttttttttlttt*'itttttttttttttttttttttttttttﬁt*ttttttitttt
(1) ‘TEST:217 125252 125252 SHIFTED BY @-(4) = 177525 52525 PS = 10
(1\ :ttttttttttttttttttttttttttttttittttttt'I'tttttttttttttttttﬁittttittttt
(1)

(1) 007160 010701 1ST217: SCOPE1

(1) 007162 012700 125252 MOV #125252,%0 :LOAD RO WITH 125252

(1) 007166 012701 125252 MOV #125252.%01 :LOAD RO'T WITH 125252

(1) 007172 000241 cLC

(1) 007174 073054 ASHC  a@-(4),%0 :SHIFT RO.RO'1 BY a@-(4)

(1) 007176 MFPS  a#PSWORD :SAVE PS

(2) 007176 106737 .WORD  106700'..C

(1) 007202 122737 000010 000432 CMPB  #10.a#PSWORD ;IS THE PS 10?

(1) 007210 001403 BEQ .+10

(3) 007212 004767 007676 JSR PC $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL TO 10

(3) 007216 000143 143

(1) 007220 022700 177525 CMP #177525,%0 :1S THE RESULT 177525?

(1) 007224 001403 BEQ .+10

(3) 007226 004767 007662 JSR PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525

(3) 007232 000144 144

(1) 007234 022701 052525 CMP #52525,%0'1 :1S THE RESULT 525257

(1) 007240 001403 BEQ .+10

(1) 007242 1%:



DVKABA MACYT1 30(1046) 14=SEP-81 16:32 PAGE 4-39

(VKABB.P1 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0044
(3) 0072642 004767 007646 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;RO'T IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 007246 000145 145
(1) 007250 021527 000217 (MP (R5) ,#217 ;1S THE STESTN = #2177
(1) 007254 001372 BNE 1% - ;IF NOT THEN GO TO HLT ABOVE
é:; 007256 005215 INC (RS)

(1)
1338
1339
1340
1341
1342
1343
1344
1438 JRNRN AR A AR AR AR AR U AN ®
1439 - MUL INSTRUCTION TESTS
1440 IRARARAAE AR R AR AR R AN RN,
1441
1442
1443
1444
1445 IRRRRRAR AR RN AR AR AR T AR AR AR RARRARAA A AR RN AR AR AR AR AR R TRt
(1) ;TEST:220 MUL 1+«~#0 =00 PS = &
(1) ;ttttttttttttttttttttttittttttttt&tttttlttttttttttttttt*tttttttttttnt
(1)
(1) 007260 010701 TST220: SCOPE
(1) 007262 012700 000001 MoV #1,%0 ;LOAD MULTIPLICAND WITH 1
(1) 007266 070027 000000 MUL #0,%0 ;MULTIPLY 1 = #0
(1) 007272 MFPS a#PSWORD : SAVE PS
(2) 007272 106737 .WORD  106700!..C
(1) 007276 122737 000004 000432 (MPB #4 ,a#PSWORD ;IS PS = 4
(1) 007304 001403 BEQ .+10
(3) 007306 004767 007602 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :PS IS WRONG
(3) 007312 000146 146
(1) 007314 022700 000000 CMP #0,20 ;1S HIGH ORDER = 0
(1) 007320 001403 BEQ .+10
(3) 007322 004767 007566 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sHIGH ORDER IS WRONG
(3) 007326 000147 147
(1) 007330 022701 000000 CMP #0,%0!1 ;1S LOW ORDER = 0
(1) 007334 001403 BEQ .+10
(1) 007336 1$:
(3) 007336 004767 007552 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007342 000150 150
(1) 007344 021527 000220 (MP (R5) ,#220
(1) 007350 001372 BNE 1% ;1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007352 005215 INC (R5)
1446 IARRRAARARRAAARRARARNER T EARRRRRRAAARRRARAARRRARRR R R RARAR AR TR TR
(1) ;TEST:221 MUL -1« 4 = -1 - PS = 10
(1) ;lttttttlttttttttttttttttttttttiitttttltttttttttttlttt!titlttttttttiQ
(1)
(1) 007354 010701 TST221: SCOPE
(1) 007356 012700 177777 MOV #-1,%0 ;LOAD MULTIPLICAND WITH =1
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(VEABB.P11 14-SEP=-81 16 MUL INSTRUCTION TESTS SEQ 0065

] 007362 070027 000001 MUL #1,%0 SMULTIPLY =1 » #1
1 007366 MFPS a#PSWORD ;SAVE PS
2) 007366 106737 WORD  106700°..C
1) 007372 122737 000010 000432 CMPB  #10,a#PSWORD ;IS PS = 10
1) 007400 001403 BEQ .+10 :
3 007402 004767 007506 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 ‘PS IS WRONG
3) 007406 000151 151
1) 007410 022700 177777 CMP #-1,%0 ;1S HIGH ORDER = =1
1) 007414 001403 BEQ .+10
3 007416 004767 007472 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :HIGH ORDER IS WRONG
3) 007422 000152 152
1) 007424 022701 177777 CMP #-1,%0'1 ;1S LOW ORDER = =1
1) 007430 001403 BEQ 410
1 007432 1%:
3 007432 004767 007456 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :LOW ORDER IS WRONG OR WRONG SEQUENCE
3) 007436 000153 153
1) 007440 021527 000221 CMP (RS) ,#221
1 007444 001372 ) BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 007446 005215 INC (R5)

1 L 'ttti'tttﬁttttttttttttttttitttttltlttttttt!ttttttttttttﬁttttttttttttt

o s o o o, B o P P i S~ T P~ N P~ o~ T~~~ o T~~~ TN o s o BN NN o NN N PN o PN N o N
vvvvvm\.’\.—vuvvvvuvvv\,\rw - N Nt Nt Nl Nl Nt N N Nt it it N Nt N N Nkt Nt N i i N Nl Nt i i N i it i ik i il sl St

1 :TEST: 222 MUL 2« #2 =04 PS = 0
.. ."itttttiiﬁtl‘t*ﬁ'ﬁﬁti*Q"ttl’.iilttil‘tit.ttﬁtlﬁtﬁ“ﬁ.ilttitttitttttttt
:
1) 007450 010701 TST222: SCOPE
1) 007452 012702 000002 MOV #2,%2 ;LOAD MULTIPLICAND WITH 2
1) 007456 070227 000002 MUL #2,%2 TMULTIPLY 2 = #2
1) 007462 MFPS  @#PSWORD *SAVE PS
2) 007462 106737 .WORD  106700'..C
1) 007466 122737 000000 000432 CMPB  #0,3#PSWORD ;IS PS = 0
1) 007474 001403 BEQ .+10
3) 007476 004767 007412 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :PS IS WRONG
3) 007502 000154 154
1) 007504 022702 000000 CMP #0,%2 ;1S HIGH ORDER = 0
1) 007510 001403 BEQ 410
3) 007512 004767 007376 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *HIGH ORDER IS WRONG
3) 007516 000155 155
1) 007520 022703 000004 CMP #6,%211 ;1S LOW ORDER = 4
1) 007524 001403 BEQ .+10
1) 007526 1%:
3) 007526 004767 007362 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) *LOW ORDER IS WRONG OR WRONG SEQUENCE
3) 007532 000156 156
1) 007534 021527 000222 CMP (RS) ,#222
1) 007540 001372 BNE 1$ :1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 007542 005215 INC (RS)
, l. "itittttttttitt*l*tttliitt'ittiittttittt.Qt.l’tt'ttttit'ititttltttt..‘
1 TTEST:223 MUL 1000 * #200 = 1 0 PS = 1
1 "tliiiti.iiiil’*l‘*tl*ﬂt‘.tt'iilttitttt**t.lil‘tittttiiittﬁiitt'iQQ'&"'!
1
1) 007544 010701 151223: SCOPE
1) 007546 010501 MOV RS,R1 :SAVE RS
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(1) 007550 012704 001000 MOV #1000, %4 :LOAD MULTIPLICAND WITH 1000
(1) 007554 070427 000200 MUL #200, 14 SMULTIPLY 1000 « #200
(1) 007560 MFPS a#PSWORD :SAVE PS
(2) 007560 106737 LWORD  106700!..C
(1) 007564 122737 000001 000432 CMPB  #1,3#PSWORD . ;IS PS = 1
(1) 007572 001403 BEQ .+10
(3) 007574 004767 C07314 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS IS WRONG
(3) 007600 000157 157
(1) 007602 022704 000001 CMP #1,%64 ;1S HIGH ORDER = 1
(1) 007606 001403 BEQ .+10
(3) 007610 004767 007300 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL: ROUTINE
(%) “HIGH ORDER 1S WRONG
(3) 007614 000160 160
(1) 007616 022705 000000 CMP #0,%6!'1 ;1S LOW ORDER = 0
(1) 007622 001403 BEQ .+10
(1) 007624 1%:
(3) 007624 004767 007264 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007630 000161 161
(1) 007632 021127 000223 CMP (R1) ,#4223 ;CHECK THE TEST NUMBER
(1) 007636 001372 BNE 1% SIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007640 010105 MOV R1,RS *RESTORE RS
(1) 007642 005215 INC (R5)
1449 IR AR AR AR R AR AR R AR AN RN AR RR AR AR AR AR AR AR AR ARt
(1) STEST:224 MUL 2 « B77777 = 0 177776 PS = 1
(") .'ttttt*l*itttttttittttttttt*ttttttttttttttttttttttttttttttttttttttit'
(1)
(1) 007644 010701 TST224: SCOPE
(1) 007646 012700 000002 MOV #2,%0 :LOAD MULTIPLICAND WITH 2
(1) 007652 070027 077777 MUL #77777.%0 CMULTIPLY 2  #77777
(1) 007656 MFPS  @APSWORD *SAVE PS
(2) 007656 106737 .WORD  106700'..C
(1) 007662 122737 000001 000432 CMPB  #1,a#P3WORD SIS PS = 1
(1) 007670 001403 BEQ L+10
(3) 007672 004767 007216 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
(3) 007676 000162 162
(1) 007700 022700 000000 CMP #0,%0 -1S HIGH ORDER = 0
(1) 007704 001403 BEQ .+10
(3) 007706 004767 007202 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “HIGH ORDER IS WRONG
(3) 007712 000163 163
(1) 007714 022701 177776 CMP #177776,%0'1 :1S LOW ORDER = 177776
(1) 007720 001403 BEQ .+10
(1) 007722 1%:
(3) 007722 004767 007166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007726 000164 164
(1) 007730 021527 000224 CMP (R5) ,#224
(1) 00773¢ 001372 BNE 1% :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007736 005215 INC (RS)
1650 "ttttttttttttﬁtttttttttttttttttttﬁtttliitttttttttitttttit!tttt‘tttttt
N “TEST:225 MUL 7777 « 810 = 0 77770 PS = 0
(1) .'tttttttttﬁttttttttttttt'tttitlt*ttttttttltttttitttitttt‘tlttlttltt!t
(1)
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007740 010701 TST225: SCOPE
MOv

007742 012702 007777 #7777.%2 :LOAD MULTIPLICAND WITH 7777
007746 070227 000010 MUL #10,%2 ‘MULTIPLY 7777 + #10

007752 MFPS a#PSWORD :SAVE PS

007752 106737 _WORD 106700'..C -

007756 122737 000000 000432 (MPB  #0,a#PSWORD (IS PS = 0

007764 001403 BEQ .+10

007766 004767 007122 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:PS IS WRONG
007772 000165 165
007774 022702 000000 CMP #0,%2 ;1S HIGH ORDER = 0

010000 001403 BEQ .+10
010002 004767 007106 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

*HIGH ORDER 1S WRONG

010006 000166 166

010010 022703 077770 CMP #77770,%2'1 ;1S LOW ORDER = 77770

8812 001403 - BEQ .+10

0016 004767 007072 JSR 5C,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
| :LOW ORDER IS WRONG OR WRONG SEQUENCE
0022 000167 167

8024 021527 000225 CMP §§5).3225
0

030 001372 BNE ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
032 005215 INC (R5)

1222123222222 22222232332333333 23833323333 22323 2332322020 dRtitttdd il

AN e = b NN = s b U NN 2 =2 NN = = ) b o b s

and
\,N\,vvv\,vvvyvy\.,wvvvv\-t\a‘-rvw\.-vvvvvv—bvvvvvvvv\avuvvvvvvvvv-.rw--v
—

‘\“,\A‘\Aﬂﬁﬂ‘\ﬁnh,\ﬁﬁﬁﬂﬁhﬁﬁn;-\f-\ﬁﬁar\nf\hﬂﬂﬁﬁﬁﬂﬂﬁﬂﬂnﬂA’\d\nﬂﬁf\fnﬁr\r\;—.

1122212122222 22222222222232:3 2332333332323 23302000ttt il

TTEST:227 MUL -1 = #77777 = =1 100001 PS = 10

—

1 STEST:226 MUL 77777 « B77777 = 37777 1 PS = 1

1 ;itttttiittttlﬁttﬁiil'ttt'ttittiltlilttlttlt*tﬁﬁttilttttttittttllliti
1

1) 010034 010701 TST226: SCOPE

1 010501 MOV RS ,R1 :SAVE RS

1) 010040 012704 077777 MOV #77777.% “LOAD MULTIPLICAND WITH 77777

1) 010044 070427 077777 MUL #77777.%% MULTIPLY 77777 = #77777

1) 010050 MFPS  @#PSWORD *SAVE PS

2) 010050 106737 WORD 106700'..C

1) 010054 122737 0000017 000432 CMPB  #1,a#PSWORD SIS PS = i

1) 010062 001403 BEQ .+10

3) 010064 004767 007024 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALi °NUTI.C
3 ‘PS IS WRONG

3) 010070 000170 170

1) 010072 022704 037777 CMP #37777.% :1S HIGH ORDER = 37777

1) 010076 001403 BEQ .+10

3) 010100 004767 007010 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 “HIGH ORDER 1S WRONG

3) 010104 000171 171

1) 010106 022705 000001 CMP #1,%6'1 :1S LOW ORDER = 1

} 8381:3 001403 " BEQ .+10

3) 010114 004767 006774 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *LOW ORDER IS WRONG OR WRONG SEQUENCE
3) 010120 000172 172

1) 010122 021127 000226 CMP (R1),#226 :CHECK THE TEST NUMBER

1) 010126 001372 BNE 1% -IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 010130 010105 MOV R1,RS *RESTORE RS

; 010132 005215 INC (RS)

1
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(1) ;tttttttttttﬁtttttttttttttt'tttttt--nnttqqnttttt-ttttttt.to‘nnnt.----
(1)
(1) 010134 010701 1ST227: SCOPE
(1) 010136 01270; 177777 MOV #-1,%2 :LOAD MULTIPLICAND WITH <1
(1) 010142 070227 077777 MUL #77777.%2 . SMULTIPLY =1 = 477777
(1) 010146 MFPS a#PSWORD :SAVE PS
(2) 010146 106737 _WORD  106700'..C
(1) 010152 122737 000010 000432 CMPB  #10,3#PSWORD ;IS PS = 10
(1) 010160 001403 BEQ .+10
(3) 010162 004767 006726 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
(3) 010166 000173 173
(1) 010170 022702 177777 CMP #-1,%2 :1S HIGH ORDER = =1
(1) 0101764 001403 BEQ .+10
(3) 010176 004767 006712 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “HIGH ORDER IS WRONG
(3) 010202 000174 174 :
(1) 010204 022703 100001 CMP #100001,%2!'1 :1S LOW ORDER = 100001
(1) 010210 001403 BEQ .+10
(1) 010212 1%:
(3) 010212 004767 006676 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010216 000175 175
(1) 010220 021527 000227 CMP (RS) ,#227
(1)